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Grade VI I   

Lesson  :  2  FRACATI ONS AND DECI MALS 
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FRACTI ON :  

The number   of  t he f or m 
௔௕ , wher e a and b ar e nat ur al number s, is known as f r act ion. 

e.g . 
ଷହ    =  

ଷ																					ே௨௠௘௥௔௧௢௥ହ																஽௘௡௢௠௜௡௔௧௢௥	  
Various t ypes  of  f ract ion : 

 Decimal  f ract ion : Whose denominat or  is any of  t he number s 10,100,1000 et c, 

Eg: 
ଶଵ଴,     

ସଵ଴଴,      
ଵଷଵ଴଴଴  et c., 

 Vulgar f ract ion  :  Whose denominat or   is a whole number   ot her  t han  et c., 

Eg: 
ଶଽ,     

ସଵଷ,      
ଵଷଶ଴ ,   

ଶ଻ଵ଴ଽ      et c., 

 Proper f ract ion :  Whose numer at or  is less t han it s Denominat or . 

 Eg:  
ଷ଻,     

ହଵଵ,      
ଶଷସ଴ ,   

଻ଷଵ଴଴      et c., 

 Hint  : 
ோ௔௧ா௟௘௣௛௔௡௧ 

 I mproper Fract ion :         Whose numer at or  is move t han or  equal  t o it s denominat or  

 Eg: 
ଵଵ଻ ,     

ଶହଵଶ,      
ସଵସଷ ,   

ହଷହଷ      et c., 

 Hint  : 
ா௟௘௣௛௔௡௧ோ௔௧      

 Mixed Fract ion :   A number  which can be expr essed as me sum of  a nat ur al number  and 

pr oper  f r act ion. 

Eg: 1 
ଷସ,
    4 

ହଽ...................  

Hint  :Quot ient   
ோ௘௠௔௜௡௘௥஽௜௩௜௦௢௥  

 Equivalent  Fract ion : 

A given f r act ion and t he f r act ion  obt ained by mult iplying or  dividing it s numer at or  

and denominat or  by t he same non zer o number  ar e called equivalent  f r act ion. 

 Like Fract ion :  Fr act ion have same denominat or  but  dif f er ent  numer at or   

Eq:  
ହଵଷ ,     

଺ଵଷ, 				 ଻ଵଷ 

 Unlike Fract ion :   Fr act ion having dif f er ent  denominat or s ar e called un like f r act ion. ଷ଻,    
ହଽ,
   

ଵଵଵଷ 

  

Know t he Terms 
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1. What  is t he 
ଵଶ of  12? 

 a) 5 b) 6 c) 3 d) 0 

2. Which of  t he f ollowing is a pr oper  f r act ion? 

 a) 
ସଷ b)  

ଵଶ c) 
ଵଽସ  d) 

ଵଵହ  

3. Which of  t he f ollowing is t he equivalent  f r act ion of  
ଷସ wit h numer at or  18? 

   a) 
ଵ଼ଵଶ b)  

ଵ଼ଶ଴ c) 
ଵସ଼  d) 

ଵ଼ଶସ 

4. Which of  t he f ollowing is t he per imet er  of  t he r ect angle of  lengt h 
ଷସ m and br eadt h 

ଵସ m? 

 a) 2 m b) 1m c) 
ଷ଼
 m d) 4 m 

5. I n a class of  40 st udent s, 
ଷହ of  t he t ot al number  of  st udent s ar e gir ls.  How many st udent s of  

 t he class ar e boys? 

 a) 24 b) 20 c) 16 d) 15 

6. A car  r uns 16 km using 1 lit r e of  pet r ol.  How much dist ance will it  cover  using 2.5 lit r es  of  

 pet r ol? 

 a) 16 km b) 40km c) 32 km d) 50 km 

7. Which of  t he f ollowing is t he value of  0.1 x 51.7 ? 

 a) 517 b)51.7 c) 0.517 d) 5.17 

8. A vehicle cover s a dist ance  of  89.1 km in 2.2 hour s.  What  is t he aver age dist ance cover ed 

by it  in 1 hour .? 

 a) 40.5 m b) 40.5 km c) 4.05 km d) 405 km 

9. The decimal expr ession f or  8 r upees 8 paise ( in Rupees) is. 

 a) 8.8 b) 8.08 c) 8.008 d) 88.0 

10. Each side  of  a r egular  hexagon is 3.5 cm long.  The per imet er  of  t he given polygon is 

 a) 17.5 cm B) 21 cm C)18.3 cm D) 20 cm 

11. 2.5 ÷  1000 is equal t o : 

 a) 0.025 b) 0.0025 c) 0.2500 d) 25000 

 

 

I .  Mult iple choice quest ions 

Object ive Type Quest ions 
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12. Which of  t he f ollowing has t he smallest  value? 

 a) 0.0002 b) 
ଶଵ଴଴଴ c) 

(଴.ଶ)మଶ     d) 
ଶଵ଴଴ ÷ 0.01 

13. Which of  t he f ollowing has t he lar gest  value? 

     a) 
ଷଶ଴.଴ହ                               b) 

଴.ଷଶ଴ହ଴                      c) 
ଷ.ଶ଴.଴ହ                          d) 

ଷ.ଶହ଴  

14. The lar gest  of  t he f ollowing is : 

 a) 0.0001 b) 
ଵଵ଴଴଴ c) (0.100) 2 d) 

ଵଵ଴ ÷ 0.1 

15. 
ଶହ  x 5 

ଵହis equal t o : 

 a) 
ଶ଺ଶହ                               b) 

ହଶଶହ          c) 
ଶ		ହ       d) 6 

16. 3
ଷସ ÷  

ଷସ  is equal t o : 

  a) 3 b) 4 c) 5 d) 
ସହଵ଺ 

17. A r ibbon of  lengt h 5 
ଵସ m is cut  int o small pieces each of  lengt h 

ଷସ m.  Number  of  pieces will 

 be: 

 a) 5 b) 6 c) 7 d) 8 

18. The ascending of  ar r angement  of  	ଶଷ,   
଺଻, 	ଵଷଶଵ  is : 

      a)  
ଵହ,   

ଷ଻, 	 ଻ଵ଴                    b) 
ଵଷଶଵ,   

ଶଷ, 	଺଻                 c) 
଺଻,   

ଵଷଶଵ, 	ଶଷ                 d) 
ଶଷ,    

଺଻, 	ଵଷଶଵ 

19. Recipr ocal of  t he f r act ion 
ଶଷ is : 

      a) 2                               b) 3                    c) 
ଶଷ     d)  

ଷଶ       

20. The pr oduct  of   
ଵଵଵଷ  and  4 is :     

 a) 3 
ହଵଷ                              b)  5 

ଷଵହ      c) 13 
ଷହ          d) 13 

ହଷ          

21. The pr oduct  of  3 and   4 
ଶହ   is :                                                               

 a) 17 
ଶହ                              b)  

ଶସହ       c) 13 
ଵହ          d) 5 

ଵଵଷ          

22. Pict or ial r epr esent at ion of  3 x 
ଶଷ : 

a. 

 

b. 

 

c. 

 

d. 
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23. 
ଵହ  ÷   

ସହ   equal t o :   

    a) 
ସହ                                   b) 

ଵହ c) 
ହସ                          d) 

ଵସ 

24. The pr oduct  of  0.03  x 0.9 is : 

      a) 2.7                             b) 0.27 c) 0.027 d) 0.0027 

25. 
ହ଻ ÷  6 is equal t o : 

      a) 
ଷ଴଻                                  b) 

ହସଶ                        c) 
ଷ଴ସଶ d) 

଺଻ 

26. 5
ଵ଺ ÷  

ଽଶ is equal t o : 

      a)  
ଷଵ଺                                b) 

ଵଶ଻                         c) 5 
ଵଶ଻                d) 

ଷଵଶ଻ 

27. Which of  t he f ollowing r epr esent s 
ଵଷ  of   

ଵ଺ ? 

 a) 
ଵଷ  +  

ଵ଺                           b) 
ଵଷ  -  

ଵ଺ c) 
ଵଷ  x  

ଵ଺ d) 
ଵଷ  ÷   

ଵ଺ 

28. 
ଷ଻  of   

ଶହ is equal t o : 

 a). 		 ହଵଶ   b) 
ହଷହ  c) 

ଵଷହ                          d) 
଺ଷହ 

29. One packet  of  biscuit s r equir es 2 
ଵଵଶ  cups of  f lour  and 1 

ଶଷ  cups of  sugar .  Est imat ed t ot al 

 quant it y of  bot h ingr edient s used in 10 such packet s of  biscuit s will be : 

     a) Less t han 30 cups                                      b) Bet ween 30cups and 40 cups 

 c) Bet ween 40cups and 50 cups d) Above 50 cups 

30. The pr oduct  of  7 and 6 
ଷସ  is : 

 a) 42 
ଵସ b) 47 

ଵସ c) 42 
ଷସ                        d) 47 

ଷସ 

31. On dividing 7 by  
ଶହ , t he r esult  is : 

     a) 
ଵସଶ                   b) 

ଷହସ  c)  
ଵସହ                             d) 

ଷହଶ  

32. 2 
ଶଷ ÷  5  is equal  t o :        

 a) ଵ଼ହ                  b) 
ସ଴ଷ  c)  

ସ଴ହ                             d) ଷ଼ 

33. 
ସହ of   5 kg apples wer e used on Monday.  The next  day 

ଵଷ of  what  was lef t  was used.                

 Weight  ( in kg) of  apples lef t  now is : 

   a) 
ଶ଻                  b) 

ଵଵସ c)  
ଶଷ                            d) 

ସଶଵ. 
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34. The Pict ur e 

 

     I nt er pr et s : 

 a) 
ଵସ ÷  3                             b) 3 x 

ଵସ                    c) 
ଷସ    x 3                  d)  3 ÷

ଵସ 

 

          

            

   1.   The picture int erpret s.  

 

 

 

 1. 	ଵଷ  ÷  4 2.  3 X 
ଵସ   3. 

ଷସ x 4 4. 3÷  
ଵସ 

2    

 

  

 a) 
ଵସ  ÷  3  b) 3 X 

ଵସ c) 
ଷସ x 3 d) 2 

3.  Pict orial represent at ion of   6 x 
૚ૠ  is 

 

a) 

 

 

b) 

 

c) 

 

d) 

1. b 2. b 3. d 4. a 5. c 6. b 7. d 8. b 9. b 10.b 

11. b 12. a 13. a 14. d 15. b 16. c 17. c 18. b 19. d 20. a 

21. c 22. b 23. d 24. c 25. b 26. d 27. c 28. d 29. c 30. b 

31. d 32. a 33. c 34. b       

I I .  Mult iple choice quest ions 
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4. I n t he year  2014, Shant hanu get s Rs.3832.5 as his pocket  allowance.  Find his pocket  

 allowance per  day. 

 a) Rs.9.5 b) Rs.10.5 c) Rs.12.5 d) Rs.11.5 

5. How many pieces of  13.2 m can be cut  f r om a 330 cm long r od? 

 a) 25 b) 28 c) 21 d) 35 

6. 
ହଵଶ par t  of  what  amount  will be equal t o 3 

ଷସ  par t  of  Rs.100? 

 a) Rs.900 b) Rs.940 c) Rs.875 d) Rs.925 

1) b 2) b 3) c 4) b 5) a 6) a 

 

 

 

1. The place value of  7 in 631. 73 is. 

 a) Seven b) 7- t ent hs c) 7-hundr edt hs d) 7- hundr ed 

2. The number  t hat  should be added t o 48.73 t o obt ain 61.5 is. 

 a) 12.77 b) 110.23 c) 12.32 d) 109.78 

3. I f  we add  13.7 t o 31.9 and t hen divide t he r esult  by 0.32, we obt ain.  

 a) 56.875 b) 568.75 c) 14.25 d) 142.5 

1. b 2. b 3. a 

 

 

  

 

1. Which  of  t he f ollowing is a pr oper  f r act ion?  

 a) 
଻ସ                           b) 

ଵଽସ                              c)  
ଵସହ                       d) 	 ସଵଵ 

2. Which of  t he f ollowing is a pr oper  f r act ion? 

 a) 
ଵ଻ଷ                            b) 

ସଷଵଶ                             c)  
ଵହଵଵ                      d) 	ସହ 

3. Which of  t he f ollowing is an impr oper  f r act ion? 

          a) 
ଶ଻                           b) 

ଵଶ                             c)  
ଶଷ                      d) 	଻ଷଵ଴ 

4. Which of  t he f ollowing is an impr oper  f r act ion? 

 a) 
ଵଵଶ                           b) 

ହଽ                             c)  
ସଵଷ                      d) 	଻ଶ 

5. Which of  t he f ollowing is an mixed f r act ion? 

I I I .  Mult iple choice quest ions 

I V.  Mult iple choice quest ions 
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 a) 
ଶଵ଻                           b) 

ଷଵସ                             c)  
ହଶ଻                      d) 2	 ଵଷଵହ 

6. The impr oper  f r act ion 
ଷଷସ  in t he f or m of  a mixed f r act ion is  

          a) 8 
ଵସ                           b) 4 

ଵ଼
          c) 3 ସ଼            d) 4 

	଻଼
    

7. Which of  t he f ollowing is not  an equivalent  f r act ion of  
ଷହ  ?                              

 a) 
଺ଵ଴                           b) 

ଽଵହ                             c)  
ଵଶଶ଴                      d) 

ଵହଶସ 

8. Which of  t he f ollowing is an equivalent  f r act ion of  
ଶଷ  ?                              

 a) 
ସଽ                           b) 

଺ଵଷ                             c)  ଵ଼ଵ                      d) 
ଵ଴ଵହ 

9. 1 - 
ଵହ is equal t o  

          a) 
ଶହ                            b)  

ଷହ                             c)  
ସହ   d) 

ଵହ 

10. 2 + 
ଵସ   is equal t o  

 a) 
଻ସ                            b)  

ଽସ                             c)  
ହସ   d) 

ଵଵସ  

11. 
ଵଶ 	+ 		 ଵଷ is equal t o  

 a) 
ଵ଺                            b)  

ହ଺                             c)  
଻଺   d) 

ଵଵ଺  

12. 
ଵଶ 	− 		 ଵସ is equal t o  

 a) 
ଵଶ                            b)  

ଵ଼
                         c)  

ଵଷ   d) 
ଵସ 

13. Apala at e 
ଷହ of  an or ange. The r emaining or ange was eat en by Meenu. Qhat  par t  of  t he or ange 

 was eat en by Meenu? 

 a) 
ଵହ                            b)  

ଶହ                          c)  
ଷହ   d) None of  t hese. 

14. The side of  an equilat er al t r iangle is 
ଵଶ cm.  The per imet er  of  t he t r iangle is. 

 a) 1 cm  b) 2 Cm    c)  
ଷଶ cm d) None of  t hese. 

15. The side of  a squar e is  
ଵଶ cm. The per imet er  of  t he squar e is. 

 a) 1 cm b) 2 cm c) 1 
ଵଶ cm d) 2 

ଵଶ cm. 

16. Manish  wor ked f or  
ଵଶ an hour .  Yash wor ked f or  

ଵସ of  an hour .  For   how much t ime did bot h 

  wor k t oget her ? 

  a) 1 hour  b) 
ଷସ hour                     c) 

ହସ hour s    d) 
ଷଶ hour s. 

 

 

17. The lengt h of  a r ect angular  sheet  of  paper  is 
ଷହ  cm and t he br eadt h is 

ଶହ   cm.  
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 What  is t he  per imet er  of  t he paper ? 

  a) 1cm                    b) 2 cm c) 3 cm d) 4 cm 

18. Lipika r eads 1 
ଵଶ hour s daily.  Pr eet i r eads 

ଵଶ hour  daily.  How much hour s t hey r ead f or  in one 

 day? 

 a) 1 hour  b) 2 hour s                c)1 
ଵଶ hour s    d) 2 

ଵଶ hour s. 

19. 2 x 
ହଷ is equal t o.  

          a) 
଻ଷ b) 

ଵଵଷ                           c) 
ଵଷଷ  d) 

ଵ଴ଷ   

20.  
଻ହ  x 4 is equal t o. 

 a) 
ଶଵହ                            b) 

ଶଶହ   c) 
ଶହ଼                           d) 

ଶଷହ   

21. What  is 
ଵଶ  of  8? 

           a) 1                          b) 2 c) 3 d) 4. 

22.  What  is 
ଵଷ  of  9 ? 

 a) 1 b) 2 c) 3 d) 9 

23. What  is 
ଷହ  of  25 ? 

 a) 5 b) 10 c)15 d) 20 

24. What  is 
ଷସ  of  24 ? 

 a) 12 b) 18 c) 16 d) 20 

25. What  is 
ଵଶ  of  

ଵ଴଻  ? 

 a) 
ହ଻                           b) 

ଷ଻                             c)  
଺଻                      d)  

ସ଻ 

26. What  is 
ଵସ  of  5

ଵଷ ? 

 a) 
ଵଷ                           b) 

ଶଷ                             c)  
ସଷ                      d) None of  t hese 

27. Ther e ar e 40 st udent s in a class. 
ଵଶ  of  t he t ot al number  of  st udent s ar e Hindus.  The 

 number  of  Hindus is. 

           a) 10 b) 20 c) 30 d) 40 

28. A wat er  bot t le cont ains 2 lit r es of  wat er . Meenu dr ank 
ଵ଼
 of  wat er .  How much wat er  did 

 Meenu dr ink? 

 a) 
ଵଶ  lit r e                          b) 

ଵ଼
  lit r e                        c)  

ଵସ  lit r e                 d)  None of  t hese 

29. A car  r uns 20 km using 1 lit r e of  pet r ol. How much dist ance will it  cover  in 1
ଵସ .  lit r e or  

 pet r ol. 
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  a) 25 km b) 30 km c) 36 km d) 40km 

30. By what  f r act ion should be mult iply 
ସହ t o get  

ଵ଺ଷହ ? 

  a) 
ସ଻                           b) 

଻ସ  c) 
ସହ                          d) 

ଵ଺ଷହ  

31. 5÷
ହଶ  is equal t o 

  a) 1 b) 2 c) 5 d) 3 

32. 14	÷ ଻ଶ  is equal t o 

  a) 1 b) 2 c) 3 d) 4 

33.  
ଵଷ ÷

ହଷ is equal t o. 

           a) 
ଵଷ                           b) 

ହଷ                            c) 
ଵସ d) None of  t hese 

34.  
ଵଶ	 ÷  4 is equal t o  

  a) 
ଵ଼
                           b) 

ଵସ                            c) 
ଵଶ                            d) 

ଵ଺ 

35. 3
ଵଷ ÷ 	 10is equal t o 

  a) 
ଵଶ                           b) 

ଵଷ                            c)  
ଵସ                          d) 

ଵହ 

36. 5 paise is equal t o  

 a) Rs.0.5 b) Rs.0.05 c) Rs 0.005 d) Rs.0.0005 

37. 5 cm is equal t o 

 a) 0.005 km b) 0.00005 km c)0.000005 km d) None of  t hese. 

38. 150 g is equal t o  

 a) 0.15 kg b) 0.015kg c) 0.0015 kg d)0.00015 kg. 

39. The place value of  2 in  2.38 is  

 a) 1 b) 2 c) 20 d) 0.2  

40. The place value of  2 in  5.32is  

 a) 2 b) 0.2 c) 0.02 d) 0.002 

41. How much less is 10 km t han 30.6 km? 

 a) 10.6 km b) 20.6 km c) 30.6 km d) 10km 

42. Find : 2.5 x 4  

 a) 10 b) 5 c) 8 d) 12. 

 

43. Find : 1.2 x 1.2  

 a) 144 b) 14.4 c) 1.44 d) None of  t hese 
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44. 1.2 x 10  is equal t o  

 a) 12 b) 120 c) 0.12 d) None of  t hese 

45. 0.6 x 100 is equal t o 

 a) 6 b) 60 c) 600 d) 0.06 

46. 1.25 x 5 is equal t o  

 a) 62.5  b) 6.25 c) 31.25 d) 0.625 

47. 0.01 x 1000 is equal t o 

 a) 1 b) 0.1 c) 0.01 d) 10 

48. 0.6 ÷  3 is equal t o 

      a) 1 b)2 c) 3 d) 0.2 

49. 2.5 ÷  100 is equal t o  

 a) 0.025 b) 0.25 c) 25 d) 250 

50. 1.44 ÷  1.2 is equal t o 

a) 1.2  b) 12 c) 0.12 d) 120 

1. d 2. d 3. d 4. d 5. d 6. a 7. d 8. d 9. c 10.b 

11. b 12. d 13. b 14. c 15. b 16. b 17. b 18. b 19. d 20. c 

21. d 22. c 23. c 24. b 25. a 26. c 27.b 28. c 29. a 30. a 

31.b 32.d 33.c 34.a 35. b 36. b 37. b 38.a 39. b 40.c 

41. b 42. a 43. c 44. a 45.b 46.b 47. d 48. d 49. a 50.a 

 

 

 

 

1. A f r act ion act s as an _________ 

2.  Fr act ion which is r ecipr ocal of  
ଶଷ is _________ 

3. Pr oduct  of  a pr oper  and impr oper  f r act ion is_________ t he impr oper  f r act ion. 

4. The t wo non-zer o f r act ions whose pr oduct  is 1, ar e called t he _________ 

  Of  each ot her . 

 

5. 5 r upee 5 paise =_________ 

6. 45 mm = _________ m 

Hint s /  Solut ions 

I .  Fill in t he Blanks 
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7. 2.4 x 1000 = _________ 

8. To divide a decimal number  by 100, we shif t  t he decimal point  in t he number  t o t he    

_________ by _________ places. 

9. Rani ar e 
ଶ଻ par t  of  a cake while her  br ot her  Ravi at e 

ସହ	of  t he r emaining.  Par t  of  t he cake lef t  

is _________ 

10. The r ecipr ocal of  
ଷ଻ is _________ 

11. 
ଶଷ of  27 is _________ 

12. The lowest  f r om of  t he pr oduct  2 
ଷ଻  x 

଻ଽ is _________ 

13. 
ସହ ÷ 4 is  equal t o _________ 

14. 
ଶହ  of  25 is _________ 

15. 
ଵହ ÷  

ହ଺  = 
ଵହ  _________ 

଺ହ 

16. 3.2 x 10 = _________ 

17. 25.4 x 1000 = _________ 

18. 93.5 x 100 = _________ 

19. 4.7 ÷  10 = _________ 

20. 4.7 ÷  100 = _________ 

21. 4.7 ÷  1000 = _________ 

22. The pr oduct  of  t wo pr oper  f r act ions is _________ t han each of  t he f r act ions t hat  ar e 

 mult iplied. 

23. While dividing a f r act ion by anot her  f r act ion, we _________ t he f ir st  f r act ion by t he 

 _________ of  t he ot her  f r act ion. 

24. 8.4 ÷  _________ = 2.1. 

25. 
ସହ of  45  is = _________ . 

26.  4 x 6
ଵଷ is equal t o  _________ . 

27. 
ଵଶ  of  4

ଶ଻ is _________. 

28. 
ଵଽ  of  

଺ହ is _________ . 

29. 52.7  ÷  _________= 0.527 . 

30. 0.5 _________0.7 = 0.35 

31. 2 _________ 
ହଷ = 

ଵ଴ଷ  . 

32. 2.001 ÷   0.003 =_________. 
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1. Rat ional 

Number  

2. 
ଷଷ 3. Less t han 4. Recipr ocal 5. 5.05 6. 0.045 

7. 2400 8. Lef t , Two 9. 
ଵ଻ 10.	଻ଷ 11. 18 12. 1 ଽ଼ 

13. 
ଵହ 14. 10 15. X 16. 32 17. 25400 18. 9350 

19. 0.47 20. 0.047 21. 0.0047 22. Less 23. Mult iply,  

Recipr ocal 

24. 4 

25. 36 26. 25 
ଵଷ 27. 2 

ଵ଻ 28. 
ଶଵହ 29. 100 30. X 

31. X 32. 667     

 

 

1. The r ecipr ocal of  
ଶ଻ is ________ . 

  
଻ଶ   [  ∴ r ecipr ocal of  

ଶ଻ = 
ଵమళ  = 

଻ଶ ]  

2. 
ଷସ of  27 is ________ . 

  Given, 
ଷସ of  27 = 

ଷସ  x 27 = 
ଷ	௑	ଶ଻ସ  = 

଼ଵସ  or  20 
ଵସ 

3. 4 x 6 
ଵ	ଷ is equal t o ________ . 

 Given 4 x 6	ଵଷ  = 4 x 
( 	଺	௑		ଷ)ା	ଵଷ  = 4 x 

ଵଽଷ  = 
଻଺ଷ  = 25 

ଵଷ 

4. 
ଵଶ of  4 

ଶ଻ is ________. 

 Given, 
ଵଶ of  4 

ଶ଻ = 
ଵଶ  x  

( 	ସ	௑	଻)ା	ଶ଻   = 
ଵଶ x 

ଷ଴଻	   = 
ଵହ଻   = 2 

ଵ଻ 

5.  The lowest  f or m of  t he pr oduct  2 
ଷ଻  x  

଻ଽ	is ________ . 

 Given, 2
ଷ଻ x 

଻ଽ = 
(ଶ	௫	଻)ାଷ଻  x 

଻ଽ 

 
ଵ଻଻  x 

଻ଽ	= 
ଵ଻ଽ  = 1 ଽ଼ 

6. 
ସହ ÷  4 is equal t o ________ . 

 Given, 
ସହ ÷  4 = 

ସଵ ÷  
ସଵ = 	  ସହ x	ଵସ = 	  ଵହ 

7. 
ଵହ ÷  

ହ଺ = 
ଵହ ________  

଺ହ. 

 Given. 
ଵ	ହ  ÷  

ହ	଺  = 
ଵହ x 

଺	ହ  

8. 25.4 x 1000 = ________ . 

 . Given, 25.4 x 1000 = 
ଶହସଵ଴  x 1000 

I I .  Fill in t he Blanks 



 

 

 

                                                                         14                                                      Created by Pinkz 

 

 

 =254 x 100 = 25400. 

9. 8.4 ÷  ________ = 2.1 

 
଼.ସ	ଶ.ଵ  = 

ఴరభబమభభబ  = 
଼ସଵ଴ x 

ଵ଴ଶଵ = 4 

10. 42.47 ÷  ________ = 0.4247 

 Given 42.47 + __________= 0.4247, 

																	ସଶ.ସ଻																଴.ସଶସ଻ = 
రమరళభబబరమరళభబబ  = 

ସଶସ଻ଵ଴଴   x  
ଵ଴଴଴ସଶସ଻ = 

ସଶସ଻	௫	ଵ଴଴ଵ	௫	ସଶସ଻    = 100 

    ∴ 42.47  ÷  100 = 0.4247 

11. 1 
ଵସ +  

ଷହ x  
ଶ଻	 = ________ . 

 Given, 1 
ଵସ ÷   

ଷହ  x 
ଶ଻ = 

(ଵ	௑	ସ)ସ  ÷  
ଷହ x 

ଶ଻ 

            =	ହସ  x 
ହଷ  x 

ଶ଻ = 
ଶହ	୶		ଶଵଶ	୶		଻  = 

ଶହସଶ . 

 

 

 

1. The r ecipr ocal of  a pr oper  f r act ion is a pr oper  f r act ion. 

2. The r ecipr ocal of  an impr oper  f r act ion is an impr oper  f r act ion. 

3. Pr oduct  of  t wo f r act ions = 
୔୰୭ୢ୳ୡ୲	୭୤	୲୦ୣ୧୰	ୢୣ୬୭୫୧୬ୟ୲୭୰ୱ୔୰୭ୢ୳ୡ୲	୭୤	୲୦ୣ୧୰	୬୳୫ୣ୰ୟ୲୭୰ୱ  

4. The pr oduct  of  t wo impr oper  f r act ions is less t han bot h t he f r act ions. 

5. A r ecipr ocal of  a f r act ion is obt ained by inver t ing it  upside down. 

6. To mult iply a decimal number  by 1000, we move t he decimal point  in t he number  t o t he r ight  

 by t hr ee places. 

7. To divide a decimal number  by 100, we move t he decimal point  in t he number  t o t he lef t  by

  t wo places.  

8. 1 is t he only number  which is it s own r ecipr ocal. 

9. 
ଶଷ  of  8 is same as  

ଶଷ ÷  8. 

10. The r ecipr ocal of  
ସ଻ is 

ସ଻ 

1. False 2. False 3. False 4. False 5. Tr ue  6. Tr ue 7. Tr ue 8. False 9. False 10. False 

 

 

 

I .  True Or False 
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1. 
ଵଷ of  6 is same as 

ଵଷ ÷  6. 		   False, 
ଵଷ  of  6 = 

ଵଷ x 6 = 
଺ଷ = 

ଶଵ 

          But    	 	ଵ		ଷ ÷  6 = 
ଵଷ x 

ଵ଺ = 
ଵଵ଼ 

2. The r ecipr ocal of  
ସ଻ is 

ସ଻ 

 False, r ecipr ocal of  
ସ଻ = 

ଵସ/ ଻ = 
଻ସ 

3. 1 is t he only number  which has it s own r ecipr ocal. 

 Tr ue, Recipr ocal of  1 = 
ଵଵ = 1 

4. To divide a decimal number  by 1000, we have t he decimal point  in t he number  t o t he lef t  by 

 t hr ee places. 

  Tr ue, e.g. 2.64 ÷ 1000 

   
ଶ଺ସଵ଴଴ ÷  

ଵ଴଴଴ଵ  =  
ଶ଺ସଵ଴଴ ݔ 

ଵଵ଴଴଴ 

  
ଶ଺ସଵ଴଴଴଴଴ = 0. 00264. 

5. The r ecipr ocal of  a pr oper  f r act ion is a pr oper  f r act ion. 

 False, e.g. 
ଵଷ is pr oper  f r act ion. 

     Recipr ocal of  
ଵଷ  is 

ଷଵ  which is impr oper  f r act ion. 

6. Pr oduct  of  t wo f r act ions = 
௉௥௢ௗ௨௖௧	௢௙	௡௨௠௘௥௔௧௢௥௦௉௥௢ௗ௨௖௧	௢௙	ௗ௘௡௢௠௜௡௔௧௢௥௦ 

 False e.g. 
ଶ଻ x 

ଷ଻ = 
ଶ	௫	ଷ଻	௫	଻  = 

଺ସଽ. 

  So, pr oduct  of  t wo f r act ions 

  = 
௉௥௢ௗ௨௖௧	௢௙	௡௨௠௘௥௔௧௢௥௦௉௥௢ௗ௨௖௧	௢௙	ௗ௘௡௢௠௜௡௔௧௢௥௦. 

7.   False,1
ଵ଻  x 1 

଺ଵ x 64 is equal t o. 

  False,1
ଵ଻  x 1 

଺ଵ x 64 = 
(ଵ	୶	଻) 	ା	ଵ଻  x 

(ଵ	୶	ଵ) 	ା	଺ଵ  x 64 

  = ଻଼ x 
ଵ଻  x 64  = 8 x 64 = 512	≠  64. 

8.   
ଵସ of   

ଵ଻ is equal  t o 28. 

  False 
ଵସ x 

ଵ଻ = 
ଵ	୶	ଵସ	୶	଻ = 

ଵଶ଼ = 
ଵଶ଼ ≠ 28 

9. The value of   ቀ4
ସ଺ 	÷ ଶଵଶቁ		x 2

ଵଵ଼ 

 False,ቀ4
ସ଺ + 	 ଶଵଶቁ x  1

ସଽ x 2
ଵଵ଼ 

I I .  True Or False 
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           = ቀ( 	ସ	× 	଺)ା	ସ଺ 	÷ ଶଵଶቁ X 
(ଵ	୶	ଽ)ା	ସଽ  X 

(ଶ	୶	ଵ଼)ା	ଵଵ଼  

  = ቀଶ଺଼ 	÷ 		 ଶଵଶቁ  X 
ଵଷଽ  X 

ଷ଻ଵ଼ 

  = 
ଶ଺଼  X 

ଵଶଶ  X 
ଵଷଽ 	 X 

ଷ଻ଵ଼ 

 = 
ଵସ	× 	ଶ	× 	ଵଷ	× 	ଷ଻ଽ	௑	ଵ଼  

 = 
ଵସ× 	ଵଷ	× 	ଷ଻଼ଵ  

 = 
଺଻ଷସ଼ଵ  = 83.135 

 So, 83.135≠  216 

10. To mult iply a decimal number  by 1000, we have t he decimal point  in t he number  t o t he r ight  

by t hr ee places. 

 e.g. 1.24 x 1000 = 
ଵଶସଵ଴଴ x 1000= 1240. 

 

 

 

1. Mat ch t he column A t o Column B 

Column A Column B 

i) 4
଺଺  ÷

ଵ଼ଵ a) 378 

ii) 7
ହ଺ x 

ଷସ଻ x 46 b) 6.554 

iii) 9.42  x 5.45 c) 23 

iv) 14.42 ÷  2.2 d) 51.339 

2. Mat ch t he column A t o Column B 

 

 

 

 

 

 

    

  

 

 

Column A Column B 

i) 2
଺ଵଷ  + 	4 ଺ଷଽ + 

ଵଷ a) 
ହସଷ 

ii) 3
ଵଷ ÷ 14 

ଵଷ x  
ଵଶ b) 6

ଶ଻ଷଽ 

iii) 2.69 x 12.64 c) 8.263 

iv) 81.81 ÷  9.9 d) 34.0016 

i) a ii) c iii) d iv) b 

i) b ii) a iii) d iv) c 

I  Mat ch t he f ollowing 
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1.  The product  of  t wo numbers is 2. 0016.  I f  one of  t hem is 0. 72,  Find t he ot her.  

 Pr oduct  of  t wo number s = 2.0016 

 One of  t he decimal number s = 0.72 

 Ot her  decimal number  = 2.0016	÷ 0.72 = 2.78 

                   = 
ଶ.଴଴ଵ଺	଴.଻ଶ  = 

ଶ଴଴ଵ଺	଻ଶ଴଴  

 Thus t he ot her  number  is 2.78. 

2.  Find the value of : ࢞    

 
଺ଵଵ x ݔ = 

଺ଵଵ = 1 = ݔ 

3.  What  is t he reciprocal of  
૞૚ૠ? 

 
ଵ଻ହ  

4.  What  is t he value of  
૜૝	 of  

૝૞? 

 
ଷସ	 x 

ସହ = 
ଷହ 

5. Writ e the value of  2. 331 x 100 = ________.  

 233.1 

                                                                         

 

1.  Def ine vulgar f ract ion 

 A f r act ion whose denominat or  is any of  number  10, 100, 1000 et c, is called vulgar  

f r act ion. 

2.  Write one equivalent  f ract ion of  
૝ૠ.   

     ଵ଼ସ 

3.  What  happens t o t he value of  a f ract ion if  t he denominat or of  t he f ract ion is 

decreased while numerat or is kept  unchanged? 

 The value of  f r act ion would incr ease. 

4.  I f  5 is added t o bot h the numerat or and t he denominat or of  t he f ract ion  
૞ૢ
 ,  will t he 

value of  t he f ract ion be changed? I f  so,  will t he value increase or decrease? 

 Yes incr ease. 

5.  What  is t he reciprocal of  
૞ૢ
 ? 

     Recipr ocal of  
ହଽ	 = 

ଽହ. 

 

Very Short  Answer Type Quest ions I  

Very Short  Answer Type Quest ions I I  
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6.  How much is 
૛૞  of  27? 

           
ଶଷ x 27 = 2 x 9 = 18 

7.  What  is t he place value of  5 in 243. 54? 

 Place value of  5 is 5 – t ent hs 

8.  Express 4. 75 as f ract ion in lowest  f orm. 

 4.75 = 
ସ଻ହଵ଴଴  = 

ଵଽସ  

9.  To mult iply a decimal number by 1000,  we move t he decimal point  t o the right  by how 

many places? 

 Thr ee 

10.  Express 6 cm in met er. 

 6 cm = 
଺ଵ଴଴ m = 0.06 m. 

 

                                                                                      

1.  Solve t he f ollowing f ract ions: 

 a) 3 + 	ସହ b) 
ଶ଻ + 

ଽଵଵ + 
ଵ଻ 

 a) 
ଷଵ + 

ସହ = 
( 	ଷ	௑	ହ)ା	(ସ	௑	ଵ)ହ   = 

ଵହାସ	ହ  = 
ଵଽହ  = 3 

ସହ 

 b) 
ଶ଻ + 

ଽଵଵ + 
ଵ଻ = 

( 	ଶ	௑	ଵଵ) ା	(ଽ	௑	଻)ା(ଵ	௑	ଵଵ)଻଻   = 
ଶଶା଺ଷାଵଵ	଻଻  = 

ଽ଺଻଻ = 1 
ଵଽ଻଻ 	[ 	∵ LCM of  7, 11 and 7 is 77] 

2.  Solve t he f ollowing f ract ions: 

 a) 	଺଼  -  
ଷହ  b) 4 

ଵଵଶ -  1 
ଷ଼
  

 a) 	଺଼  -  
ଷହ =

( 	଺	௑	ହ)ି	(ଷ	௑	଼)ସ଴   = 
ଷ଴ିଶସ	ସ଴  = 

଺ସ଴ =  
ଷଶ଴ [ 	∵ LCM of  8 and 5 is 40] 

 b) 4 
ଵଵଶ -  1 

ଷ଼
  = 

ସ	௑	ଵଶାଵଵଶ   - 
ଵ	௑	଼ାଷ	଻଻  = 

ସଽଵଶ -  
ଵଵ଼

 [ 	∵ LCM of  12 and 8 is 24] 

  = 
( 	ସଽ	௑	ଶ)ି	(ଷ௑	ଵଵ)ଶସ   = 

ଽ଼ିଷଷ	ଶସ  = 
଺ହଶସ = 2 

ଵ଻ଶସ 

3.  Which of  t he f ollowing is great er ? 

 a) 
ଶଷ  and   

ଵସ b) 
ଷସ  and   

ଵ଼ଵଶ 

 a) 
ଶଷ  and   

ଵସ 									[ 	∵ LCM of  3 and 4 is 12] 

 = 
ଶ	௑	ସଷ	௑	ସ = ଵ଼ଶ   and  

ଵ	௑	ଷସ	௑	ଷ  = 
ଷଵଶ  

 Her e, denominat or  is same and 8 > 3. 

 Hence,  ଵ଼ଶ > 
ଷଵଶ i.e. 

ଶଷ > 
ଵସ 

Very Short  Answer Type Quest ions I I I  
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         d. Given, 
ଷସ and 

ଵ଼ଵଶ [ 	∵ LCM of  4 and 12 is 12] 

 = 
ଷ	௑	ଷସ	௑	ଷ = 

ଽଵଶ and  
ଵ଼	௑	ଵଵଶ	௑	ଵ  = 

ଵ଼ଵଶ 

 Her e is denominat or  is same and  18 > 9 

 Hence, ,  
ଵ଼ଵଶ > 

ଽଵଶ i.e. 
ଵ଼ଵଶ > 

ଷସ. 

4.  Find t he f ollowing product s. 

          a) 
ଷ଻ x  4                 b) 

ଵଽ x  2 
ଷ଻ 

 a) 
ଷ଻ x  4   =  

ଷ଻ x  
ସଵ   = 

ଷ	௑	ସ଻	௑	ଵ = 
ଵଶ଻       

 b) 
ଵଽ x  2 

ଷ଻  =  
ଵଽ x  

( 	ଶ	௑	଻)ା	ଷ଻    = 
ଵଽ x  

(ଵସାଷ)଻  

  = 
ଵଽ x  

ଵ଻଻    = 
ଵ	௑	ଵ଻ଽ	௑	଻  = 

ଵ଻଺ଷ      

5.  Find t he value of  t he f ollowing f ract ions of  numbers,  

          a) 
ଵଷ of  15           b)   

ଵସ of  20     

 a) Given  
ଵଷ of  15     

 i.e.  
ଵଷ x  

ଵହଵ    = 
ଵ	௑	ଵହଷ	௑	ଵ  = 

ଵହଷ   = 5   

 b)  Given  
ଵସ of  20      

 i.e.  
ଵସ x  

ଶ଴ଵ    = 
ଵ	௑	ଶ଴ସ	௑	ଵ  = 

ଶ଴ସ   = 5      

6.  Mult iply and reduce t o lowest  f orm and convert  int o a mixed f ract ion.  

 a) 6 x 	ଵଵ଼
 b) 9 x  

ଵଷଶଵ 

 a) Given, 6 x 	ଵଵ଼
 

 = 
଺ଵ x 	ଵଵ଼

 = 
଺	௑	ଵଵଵ	௑	ଵ଼ = 

଺଺ଵ଼= 
ଷଷଽ  = 

ଵଵଷ  =3 
ଶଷ 

 b)  Given, 9 x  
ଵଷଶଵ 

 = 
ଽଵ x 	ଵଷଶଵ = 

ଽ	௑	ଵଷଵ	௑	ଶଵ = 
ଵଵ଻ଶଵ = 

ଷଽ଻   =5 
ସ଻ 

7.  Mult iply and express as a mixed f ract ion.  

 a)  2 x  	4 ଵହ  b) 2 x 		2 ଶଷ 

 a) Given,  2 x  	4 ଵହ 

           = 
ଶଵ = 

( 	ସ	௑	ହ)ା	ଵହ  = 
ଶ	ଵ x   

ଶଵହ  = 
ଶ	୶	ଶଵଵ୶		ହ  =

ସଶହ  =8
ଶହ 

 b) Given, 2 x 	2 ଶଷ 
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 = 
ଶଵ = 

( 	ଶ	௑	ଷ)ା	ଶଷ  = 
ଶ	ଵ x   

( 	଺ାଶ)ଷ  = 
ଶଵ x  ଷ଼ = 

ଵ଺	ଷ 	= 5 
ଵଷ. 

 

8.  Find t he value of  t he f ollowing division of  f ract ions. 

  a) 2 ÷  ଽ଼                   b) 1
ଷହ ÷  

ଵଶ             c) 2
ଵଶ ÷  2

ଷହ     

 a) Given 2 ÷  ଽ଼    = 
ଶଵ ÷  ଽ଼  =  

ଶଵ	 x  Recipr ocal of  ଽ଼	 
 = 

ଶ	ଵ x  
ଽ	଼
 =

ଶ	௑	ଽଵ	௑	଼ = 
ଵ଼଼

 = 
ଽସ 	= 2 

ଵସ.        

 b) Given 1
ଷହ ÷  

ଵଶ = 
( 	ଵ௑	ହ)ା	ଷହ  ÷  

ଵ	ଶ =	ହ଼ ÷  
ଵ	ଶ 																			ହ଼	 x  Recipr ocal of  

ଵଶ 

  = 
଼	ହ x  

ଶ	ଵ =
଼	௑	ଶହ	௑	ଵ = 

ଵ଺ହ   	= 3 
ଵହ.     

 c) Given 2
ଵଶ ÷  2

ଷହ  = 
( 	ଶ௑	ଶ)ା	ଵଶ  ÷  

(ଶ	௑	ହ)ା	ଷ	ହ  

  =	ହଶ ÷  
ଵଷ	ହ  =	ହଶ x  Recipr ocal of  

ଵଷହ  

  = 
ହ	ଶ x  

ହ	ଵଷ =
ହ	௑	ହଶ	௑	ଵଷ = 

ଶହଶ଺ .  

9.  Which of  t he f ollowing decimal numbers is great er? 

 a) 0. 2 or 0. 02 b) 0. 9 or 0. 11 c) 0. 11 or 11 d) 6. 03 or 6. 30 

 a) Given 0.2 or  0.02 

 For  gr eat er  decimal number , compar e t he digit s at  t ent h place. 

 2 > 0 

 So, 0.2  > 0.02 

 b)  Given 0.9 or  0.11 

 For  gr eat er  decimal number , compar e t he digit s at  unit  place. 

 9 > 1 

 So,  0.9  > 0.11 

 c) Given 0.11 or  11 

 For  gr eat er  decimal number , compar e t he digit s at  unit  place. 

 [∵	 t ent h place is same] 

 0 <  1 

 And again, 0.11  <  11. 



 

 

 

                                                                         21                                                      Created by Pinkz 

 

 

 d) Given  6.03 or  6.30 

 I f  unit  digit s ar e same in bot h number s t hen we compar e t ent h place digit . 

 O < 3 So, 6. 03  < 6.30. 

10.  Find t he value of  t he f ollowing product s of  decimal numbers.  

 a) 1. 3 x 4 b) 2. 3 x 4. 35 c) 56. 3 x 1000 

 a) Given 1.3 x 4 = 13 x 4 = 52 

 ∵ Ther e is only 1digit  t o t he r ight  of  t he decimal point  in 1.3 

          ∴  1.3 x 4 = 5.2 

 b)  Given 2.3 x 4.35 

 23 x 435 =10005  

 ∵ sum of  t he decimal places t o t he r ight  of  t he decimal point  in 2.3 and 4.35 is 3. 

 c) Given 56.3 x 1000 

  563 x 1000 = 563000 

 ∵ Ther e is only 1 digit  t o t he r ight  of  t he decimal point  in 56.3 and 1000. 

 So, 56.3 x 1000 = 56000.00 

 11.  Find the value of  t he f ollowing division of  decimal numbers.  

 a) 0. 6÷  0. 2      b) 15. 5 ÷  5 

 a) Given 0.6÷  0.2   =    
଴.଺଴.ଶ = 

଴.଺	௑	ଵ଴଴.ଶ	௑	ଵ଴		 = 
଺ଶ = 3 

 b) Given 15.5 ÷  5 

 = 15.5 ÷  5= 15.5 ÷  
ହଵ 

 = 15.5 Recipr ocal of  
ହଵ = 15.5  x  

ଵହ 

 Ther e is only 1 digit  t o t he r ight  of  decimal point  in 15.5  

 So,  15.5 ÷  5  = 31. 
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1.  Arrange t he f ollowing in descending order :  

 a) 
ଶଽ , 

ଶଷ , ଶ଼ଵ 

 b) 
ଵହ , 

ଷ଻,  
଻ଵ଴ 

 LCM of  9 , 3 and 21  is 63  ∴ 
ଶଽ  x 63,  

ଶଷ  x 63,  ଶ଼ଵ x 63 

Or  14,      42,      24 

 ∴ 
ଶଷ , ଶ଼ଵ , 

ଶଽ 

b) 
ଵହ , 

ଷ଻,  
଻ଵ଴ 

LCM of  5 , 7 and 10  is 70 

Or  14,       30,    49 ∴ 
଻ଵ଴,  

ଷ଻, 			 ଵ	ହ 

2.  I f  t he length and breadth of  t he rectangular sheet  of  paper is 49 
૚૛ cm and 23 

૚૛ cm 

respect ively.  Find it s perimet er.  

Lengt h = 49 
ଵଶ = 

ଽଽଶ  

Br eadt h   = 23 
ଵଶ  = 

ସ଻ଶ  cm 

Per imet er  = 2 ( l + b) 

 =2ቂଽଽଶ +
ସ଻ଶ 	ቃ 

 =2ቂଽଽାସ଻ଶ 	ቃ  = 146. 

3. Evaluate  the f ollowing :    

a) 2 x 5x 1. 2 

b) 2 -  
૚૛ of  4.  

Solut ion : a)  = 2 x 5x 1.2 = 10 x 1.2 

=   12. 

b)  2 - 
ଵଶ of  4.  = 2 - 

ଵଶ  x 4 

= 2 – 2 = 0. 

4.  Find 
૜૝ of   :  a)   16 b) 36 

a)  
ଷସ of   16 = 

ଷସ  x 16 = 3 x 9  = 27 

Short  Answer Type Quest ions I  
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5.  Mult iply the f ollowing :  a) 
૛૞  x 5 

૚૝  b) 2
૜૞   x 3                                                   

Solut ion  : 

= 
ଶହ  x 5

ଵସ    =  
ଶହ x ቀଶଵସ ቁ 

=
ଶଵଵ଴   = 2  

ଵଵ଴. 

b) 2
ଷହ   x 3     = 

ଵଷହ   x 3      

=
ଷଽହ   = 7 

ସହ . 

6.  Find : 

       a)  
૛	૞   ÷    

૚૛     b) 
૝ૢ
    ÷   

૛૜           

        
ଶ	ହ   ÷    

ଵଶ  =  	ଶ	ହ   x 			ଵ	ଶ  = 
ସହ   

       b)   
ସଽ    ÷   

ଶଷ    =      
ସଽ    x   

ଷଶ   =   
ଶଷ  

7.  Find : 

a) 2. 5  x 0. 3    b) 0. 1 x 51. 7 

Solut ion :  

a) 2.5  x 0.3   = 0.75    b) 0.1 x 51.7   = 5.17 

8.  Find the product   of   

a) 1 and Reciprocal of  1 

b) 2 and Reciprocal of  2 

c) 
૚૝   and reciprocal of  -

૚૝ 

d) 
૛૞   and reciprocal of  - 2

૚૛ 

Solut ion  :  

a) 1 x 1 =1 

as r ecipr ocal of  1 is 1 

b) 2  x  
ଵଶ 	 = 1 

 As r ecipr ocal of  2 is 
ଵଶ 

c) 
ଵସ x (-4) = -1 

as r ecipr ocal of  
ଵସ is -4 

d)Since  -2		ଵଶ    = -
ହଶ 

and it s r ecipr ocal   = - 
ଶହ 

So 
ଶହ	   x -  

ଶହ	  =   
ିସଶହ  
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9.  Find the values of  t he f ollowing : 

a) 135  ÷  10                               b)   235. 4 ÷  100 

a)  =     
ଵଷହଵ଴                              b)	= 	 ଶଷହ.ସ		ଵ଴଴  

= 13.5      =  2.354 

10.  Find :    
ૠ.ૠ૞૙.૛૞ 

Solut ion :  
଻.଻ହ଴.ଶହ 		= 									 ଻଻ହଶହ      = 31 

11.  Simplif y  ૚૞૚૟    -    
૚૚૚૛ ∴ LCM  of  16 and 12  = 4 x 4 x 3  =48     4   16, 12 ଵହଵ଺    -   

ଵଵଵଶ =  
ଵହ	௫	ଷଵ଺	௫	ଷ      - 

ଵଵ	௫	ସଵଶ		௫	ସ			                                        4, 3 

=  
ସହସ଼  - 

ସସସ଼ =  
ସହିସସସ଼   

= 
ଵସ଼ . 

12.  Simplif y :  4	૞૟   -  2 
૞૟  + 3   

ૠ૚૛        2  6, 8,  12                       

= 
଺	௑	ସାହ଺  - 

ଶ	௑	଼ାଷ଼  + 
ଷ	௑	ଵଶା଻ଵଶ    3  3, 4,  6 

=	ଶଽ଺  - 
ଵଽ଼

 + 
ସଷଵଶ     2  1, 4,  2 

= 
ଶଽ		௑	ସ଺	௑	ସ  - 

ଵଽ		௑	ଷ଼		௑	ଷ  + 
ସଷ		௑	ଶଵଶ	௫	ଶ     2  1, 2,  1 

= 
ଵଵ଺ଶସ  -  

ହ଻ଶସ + 
଼଺ଶସ          1, 1,   1 

= 
ଵଵ଺ିହ଻ା଼଺ଶସ   = 

ଵସହଶସ  

= 6
ଵଶସ.          

13.  A Sugar is sold at  Rs. 17	૜૝ per kg.  Find t he cost  of  8 
૚૛ kg of  a sugar.  

         We have ,  

         Cost  of  1 kg sugar  = Rs.17 
ଷସ  = Rs	଻ଵସ  ∴ Cost  of  8 

ଵଶ kg of  sugar  = Rs. ቀ଻ଵସ 	ܺ	8 ଵଶ	ቁ 

                                    = Rs. ቀ଻ଵସ 	ܺ	 ଵ଻ଶ 	ቁ = Rs. . 	ቀ	଻ଵ	௑	ଵ଻ସ	௑	ଶ 		ቁ 

                                  = Rs.ቀଵଶ଴଻଼ ቁ = Rs. 150 
଻଼
 

 Hence, t he cost  of  8 
ଵଶ kg of  sugar  is Rs 150 

଻଼
. 
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14.  A car runs 16km using 1 lit re of  pet rol.   How much distance will it  cover using 2
૜૝ 

lit res of  pet rol? 

  I n 1 lit r e pet r ol, car  r uns 16 km 

 ∴ I n  2 
ଷସ lit r es of  pet r ol, car  will t r avel  

 = ቀ2
ଷସ 	ܺ	16ቁ km = ቀଵଵସ 	ܺ	 ଵ଺ଵ 		ቁ 	݇݉ 

 = (11 x 4) km = 44 km    Hence, car  t r avels 44 km in 2
ଷସ	 lit r es of  pet r ol. 

15.  Shikha has read 
૜૝	 of  a book consist ing of  288 pages.  How many pages are st ill lef t ? 

 Sol, We have, 

 Tot al number  of  pages  in t he book  = 288 

 Number  of  pages  r ead by Shikha  = 
ଷ଼
 of  288 

            = 
ଷସ  x  288  

 = 
ଷସ  x  

ଶ଼଼ଵ  

         = 3 x 72 = 216 

  ∴	Number  of  pages lef t  = ( 288 – 216 ) = 72. 

16.  A rectangular park is 20 
૜૝m long and 15 

૚૛ wide.   What  is the area of  t he park? 

       Lengt h of  t he par k = 20 
ଷସ m = 

଼ଷସ  m, 

      Widt h of  t he par k  = 15 
ଵଶ m = 

ଷଵଶ  m 

      ∴	 Ar ea of  t he par k  = Lengt h x Widt h 

            = ቀ଼ଷସ 	ܺ	 ଷଵଶ 	ቁ	m2 = 
଼ଷ	௑	ଷଵସ	௑	ଶ  m2 

          = 
ଶହ଻ଷ଼  m2 = 321			ହ଼ m2 

17.   A cart on contains 40  boxes of  nails and each box weight s 3
૜૝ kg.  How much would a 

cart on of  nails weigh? 

 Weight  of  1 box = 3 
ଷସ kg. = 

ଵହସ  kg 

              Weight  of  40 boxes  

  = ቀଵହସ 	× 	40ቁ kg = = ቀଵହସ 	 × 	 	ସ଴ଵ 	ቁ kg 

                    = 
	ଵହ			௑	ସ଴ସ	௑	ଵ  kg. 

         Hence, weight  of  t he car t on in 150 kg. 
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18.  Find the value of  : 

 
	૚૝	૛ૠ   + 

	૚૜	૚૚૚૜ + 
	૚	૞ૢ 

 Given expr ession = 
	ଵ	యబళ   + 

	ଵ	ఱబభయ + 
	ଵ	ఱవ 

    = 
	଻ଷ଴  + 

	ଵଷହ଴   + 
	ଽହ  

                                         = 
	ଷହଵହ଴  + 

ଷଽଵହ଴  + 
	ଶ଻଴ଵହ଴  

                                      = 
	ଷହାଷଽାଶ଻଴ଵହ଴    = 

	ଷସସଵହ଴  

  = 
	ଵ଻ଶ଻ହ    = 2 

	ଶଶ଻ହ  

19.  How many 
૛૜ kg pieces can be cut  f rom a cake of  weight  4 kg? 

      Obser ve t he f ollowing f igur e r epr esent ing 4 cakes each of  1 kg and t r y t o give t he answer . 

 

 

 

I n t he above f igur e we look f or  ‘how many 
ଶଷ ar e t her e in t hese 4 cakes. 

 i.e. 4 ÷  
ଶଷ  = 4 x 

ଷଶ = 4 x 
ଷଶ  = 6 

20.  Harmeet  purchased 3. 5 kg of  pot at oes at  t he rat e of  3. 75 per kg.   How much money 

should she pay in nearest  rupees? 

 Cost  of  1 kg of  pot at oes = Rs 3.75 

 Cost  of  3.5 kg of  pot at oes = Rs.3.75 x 3.5 

   1 3. 7 5 

   X  3. 5 

   6 8 7 5 

  4 1 2 5 x 

  4 8. 1 2 5 

So, cost  of  3.5 kg of  pot at oes  = 48, t o t he near est  r upees. 
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21.  Kavita had a piece of  rope of  lengt h 9. 5 m.   She needed some small pieces of  rope of  

lengt h 1. 9 m each.   How many pieces of  t he required lengt h will she get  out  of  t his 

rope? 

 The lengt h of  t he r ope = 9.5 m 

 The lengt h of  a small piece of  r ope  = 1.9 m 

 Number  of  small pieces  = 9.5 m ÷  1.9 m 

  = 
ଽ.ହଵ.ଽ  = 

ଽ.ହ	௑	ଵ଴	ଵ.ଽ		௑		ଵ଴	  = 
ଽହଵଽ   = 5 

         So, she will get  5 small pieces of  r ope. 

22.  Three boys earned a t ot al of   Rs. 235. 50.   What  was t he average amount  earned per 

boy? 

        Thr ee boys ear ned =  Rs.235.50. 

 The aver age amount  ear ned per  boy = Rs. 
ଶଷହ.ହ଴ଷ  

                    78.50 

         3 235.50 

   21 

    25 

    24 

      15 

      15 

        0 

 The aver age amount  ear ned per  boy is Rs.78.50 

   

23.  Find the product  of   

a) 
૚		૛			  and  

૞ૡ                                           b) 
૚		૜			  and  

ૠ૞      

Solut ion                   

= 
ଵ		ଶ			 x   

ହ଼
            =    

ଵ		ଷ			   x   
଻ହ       ଵ	௫	ହଶ	௫	଼                           = 

ଵ		ଷ			   x   
଻ହ       

=
ହଵ଺                           = 

ଵ௫଻ଷ	௫	ହ      = 
଻ଵହ. 
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24.  The weight  of  an obj ect  on Moon is 
૚૟ it s weight  on Eart h.   I f  an obj ect  weighs 5 

૜૞ kg 

on Earth,  how much would it  weight  on the Moon? 

             Weight  of  an obj ect  on Moon is 
ଵ଺ it s weight  on Ear t h. 

 Obj ect  weight s on Ear t h = 5 
ଷହ kg. 

      15 140   93 

         - 135 

    50 

   -45 

    50 

 = 
ହ	୶	ହ	ା	ଷହ  kg= 

ଶହ଼  

 Weight  an  Moon  
ଵ଺ of  

ଶହ଼   kg. 

  = 
ଵ଺ x 

ଶହ଼    = 
ଶ଼ଷ଴  kg 

           = 
ଵସଵହ kg = 0.93 kg 

 [dividing numer at or  and denominat or  by 21] 

Hence, t he obj ect  will weigh 0.93 kg on Moon. 

 

25.  Raj  t ravels 360 km on three f if th of  his pet rol tank.   How f ar would he t ravel t he 

same rat e wit h a f ull tank of  pet rol? 

Raj  Tr avels  360 km on 
ଷହ	t h of  his pet r ol t ank. 

Let  t he dist ance t r avelled  wit h f ull t ank is ݔ km 

Accor ding t o t he quest ion , 
ଷହ of x km = 360km 

   
ଷହ  x  =360 

On mult iplying by  
ହଷ	 bot h sides ଷହ	 	ܺ		 ହଷ	  X 360 = ݔ x 

ହଷ	 
= 5 x 120 = 600 km  ݔ =  600 km.  

I f  t ank is f ull, t hen Raj  can t r avel = 600 km. 

 

26. I f  5 is added t o both t he numerat or and t he denominat or of  t he f ract ion 5/ 9 will the 

value of  t he f ract ion be changed 7.   I f  so,  will the value increase of  decrease. 

Fr act ion = 
ହଽ 

 5 is added t o bot h numer at or  and denominat or , 

New f r act ion    =  
ହଽ 
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5 is added t o bot h numer at or  and denominat or . 

New f r act ion = 
ହାହଽାହ   = 

ଵ଴ଵସ 

By compar ing f r act ion 
ହଽ , 

ଵ଴ଵସ ହଽ        
				ଵ଴ଵସ  

5 x 14 <9 x 10 

70 < 90 

So, new f r act ion is incr eased in value as compar ed t o t he given f r act ion. 

 

 

 

1.  Sameera purchased 3 
૚૛ kg apples and 4 

૜૝  kg oranges.   What  is t he t ot al weight  of  

f ruit s purchased by her? 

Weight  of  Apples = 3
ଵଶ kg  = 

଻ଶ kg. 

Weight  of  Or anges = 4
ଷସ kg  = 

ଵଽସ  kg. 

Tot al weight  of  f r uit s = 
଻ଶ + 

ଵଽସ  

= 
ଵସାଵଽସ   = 

ଷଷସ  kg. 

= 8 
ଵସ kg. 

2.  Evaluate the f ollowing : 

 a) 7 ÷  3. 5              b) 3. 25 ÷  0. 5        c)  2. 73 ÷  1. 3  

a)     7 ÷  3.5     = 
଻ଷ.ହ  =    

଻	௑	ଵ଴ଷହ        

 = 
଻଴ଷହ   = 2 

Or  

 7 ÷  3.5     = 7  ÷     
ଷହଵ଴     

           = 7 x  
ଵ଴ଷହ   

   = 
଻଴ଷହ 

            = 2. 

b)      3.25 ÷  0.5     = 
ଷ.ଶହ଴.ହ   =    

ଷ.ଶହ଴.ହ  

  = 
ଷଶହହ଴    = 6.5 

 3.25 ÷  0.5     = 
ଷଶହଵ଴଴  x   

ଵ଴ହ  

Short  Answer Type Quest ions I I  
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              = 
଺ହଵ଴଴  x   

ଵ଴ଵ  

              = 
଺ହଵ଴ 

             = 6.5 

c)    2.73 ÷  1.3 = 
ଶ.଻ଷଵ.ଷ   =    

ଶ.଻ଷଵ.ଷ଴ 

   = 
ଶ଻ଷଵଷ଴ 

 = 
ଶଵଵ଴ 

          = 2.1. 

3.  Find the value of  f ollowing : 

 a) 
૚૛ x 

૚૜ x 2 x 3 

          b) 0. 04 x 100 x 
૚૝ 

          a) 
ଵଶ x 

ଵଷ x 2 x 3 = 
ଵଶ x 2 x 

ଵଷ x 3 

 = 1 x 1 = 1. 

 b. 0.01 x 100 x 
૚૝ = 

ସଵ଴଴ x 100 x 
ଵସ 

 =  4 x 1 = 
૚૝ = 4 x 

૚૝ 

 = 1 x 1 =1 

4.  Find  : 

 a) 0.3 x 10 

 b) 1.02 x 100 

 c) 56.3 x 1000 

 a) 0.3 x 10 = 
ଷଵ଴  x 10 

 = 3 x 1 = 3. 

 b) 1.02 x 100 = 
ଵ଴ଶଵ଴଴ x 100 

                  = 102 x 1 

                 = 102. 

          c) 56.3 x 1000 = 
ହ଺ଷଵ଴  x 1000 

                      = 
ହ଺ଷଵ଴  x 1000 

                     = 563 x 100 

                     = 56300. 
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5.  I f  length or rect angle is 0. 5 met re and its breadth is 1. 5 met re,  f ind it s area.  

   For rect angle, 

                    Ar ea = Lengt h x Br eadt h 

                   Lengt h  = 0.5 m 

                  Br eadt h = 1.5 m 

                Ar ea = (1.5 x 0.5) ݉ଶ  

                = ቀଵହଵ଴	 	ܺ	 ହଵ଴ቁ ݉ଶ 

                 = 
଻ହଵ଴଴ ݉ଶ 

                = 0.75 ݉ଶ 

6.  Write the f ollowing numbers in the expanded f orm : 

 a) 234.345 b) 2.034 c) 115.567 

 a) 234.345  

 =  2 x 100 + 3 x 10 + 4 x 1 + 
ଷଵ଴ + 

ସଵ଴଴ + 
ହଵ଴଴଴ 

          b) 2.034 = 2 x 1 + 0 		 ଷଵ଴଴ + 
ସଵ଴଴଴  

 c) 115.567  = 1 x 100 + 1 x 10 + 5 x 1 + 
ହଵ଴ + 

଺ଵ଴଴ + 
଻ଵ଴଴଴. 

7.  I f  t rain covers 300 kilomet re in 3 
૚૛ hours,  f ind it s speed.  

                    For  any moving obj ect , 

                  Speed = 
ௗ௜௦௧௔௡௖௘	௧௜௠௘  

    I n t his quest ion, dist ance cover ed  = 300 km 

    Time t aken = 3 
ଵ	ଶ  hour s 

= 		 ଻		ଶ  hour s 

Speed = 
ଷ଴଴		଻   = 

ଷ଴଴	௫	ଶ଻  

= 
଺଴଴଻    85.7 km/ h. 

8.  Write the place value of  2 in t he f ollowing decimal numbers : 

a) 20.56 b) 10.25 c) 63.352 

Place value of  2  

 a) I n  20.56 be (10) or  t ens. 

 As 20.56  = 2 x 10 + 5 x 
ଵଵ଴ + 6 x 

ଵଵ଴଴ 

b) I n 10.25 be ቀ ଵଵ଴ቁ or  t ent hs as 2 x 
ଵଵ଴ c) I n 67.352 be ቀ ଵଵ଴଴଴ቁ or  t housand as ቀ ଶଵ଴଴଴ቁ. 
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9.  Which is greater : 

 a) 0.5 or  0.05 b) 0.7 or  0.5 c) 1.37 or  1.49 

 a) I n 0.5 and 0.05 On compar ing t ens, 

 5 >  0 

 So, 0.5 > 0.05 

 b) I n 0.7  and 0.5  

 On compar ing t ens, 

 7 >  5 

 So, 0.7 > 0.5 

 c) 1.37 or  1.49 

 On compar ing t ens, 

 3 <  4 

 So, 1.37 < 1.49. 

10.  Mukul solved 
૛ૠ part  of  an exercise while Deeksha solved 

૝૞ of  it .   Who solved less? 

  I n or der  t o know who solved less par t  of  t he exer cise, we will compar e 
ଶ଻ and 

ସହ.  

We have, 

LCM of  denominat or s (i.e.) 7 and 5) , 7 x 5  = 35.  Conver t ing each f r act ion int o an equivalent  

f r act ion having 35 as it s denominat or , we have ଶ଻ = 
ଶ	௑	ହ଻	௑	ହ = 

ଵ଴ଷହ and 
ସ଻ = 

ସ	௑	଻ହ	௑	଻ = 
ଶ଼ଷହ ∴ 10 < 28 ∴ 

ଵ଴ଷହ < 
ଶ଼ଷହ ⇒ 

ଶ଻ < 
ସହ 

Hence Mukul solved lesser  par t  t han Deeksha. 

11.  Suval f inished colouring a picture in 
ૠ૚૛ hours.  Pramod f inished colouring the same 

pict ure in
૜૝ hours.   Who worked longer? By what  f ract ion was it  longer? 

I n or der  t o know who wor ked longer  we will compar e f r act ions 
଻ଵଶ and 

ଷସ  

We have, 

(LCM  of  12  and 4) = 12 

Conver t ing each f r act ion int o an equivalent  f r act ion wit h 12 as denominat or , we have ଻ଵଶ =  
଻	௑	ଵଵଶ	௫	ଵ = 

଻ଵଶ and 
ଷସ =  

ଷ	௑	ଷସ	௑	ଷ = 
ଽଵଶ 
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7< 9 ଻ଵଶ < 
ଽଵଶ  or   

଻ଵଶ < 
ଷସ 

Thus, Vaibhav f inished colour ing in longer  t ime. 

Now, 
ଷସ - 

଻ଵଶ = 
ଽଵଶ	- ଻ଵଶ = 

ଽି଻ଵଶ  = 
ଶଵଶ = 

ଵ଺ 

Hence, Pr amod f inished colour ing in 
ଵ଺ hour  mor e t ime t han Suval. 

12.  Mult iply : 

 a) 
૛ૢ
 by 

૝૞                b) 2 
૚૜ by 

૛૞   c)  5 
૜૝ by  2 

૜ૠ 

 We have , 

 a) 
ଶଽ x 

ସହ =  
ଶ	௑	ସଽ	௫	ହ = ସ଼ହ 

 b) 2 
ଵଷ x 

ଶହ  = 
଻ଷ x 

ଶହ  = 
଻	௑	ଶଷ	௫	ହ x 

ଵସହ    

 c) 5 
ଷସ x 2 

ଷ଻   = 
ଶଷସ  x 

ଵ଻଻   = 
ଶଷ	௑	ଵ଻ସ	௑	଻  =   

ଷଽଵଶ଼  = 13 
ଶ଻ଶ଼. 

13.  Mult iply and reduce t o lowest  f orm (if  possible) : 

          a)     
ଶଷ x 

ହସ    b)  
ଵଷ x 

ଵହ଼
       c) 

ସହ x 
ଵଶ଻     

          a)     
ଶଷ x 

ହସ   =  
ଶ	௑	ହଷ	௑	ସ =	 	ଵ	௑	ହ		ଷ	௑	ଶ = 	 ହ଺ 

 b)  
ଵଷ x 

ଵହ଼
   =  

ଵ	௑ଵହଷ	௑	଼  =	 	ଵ	௑	ହ		ଵ	௑	଼ = 	 ହ଼
 

          c) 
					ସ					ହ x 

ଵଶ଻    =  
ସ௑ଵଶହ	௑	଻ =	 	ସ଼		ଷହ = 1	 ଵଷଷହ 

14.  Simplif y : 

 a) 5 x 
૜૛૙ x 

૛૚૞                b) 
૚૝૛૞  x 

૜૞૞૚ x 
૜૝૝ૢ 

 a) 5 x 
ଷଶ଴ x 

ଶଵହ  = 
ହଵ x 

ଷଶ଴ x 
ଶଵହ = 

ହ	௑	ଷ	௑ଶ	ଵ	௑	ଶ଴	௑	ଵହ  = 
ଵ	௑	ଵ	௑	ଶ	ଵ	௑	ସ	௑	ହ 	=  = 

ଵ	ଶ	௑ହ =  = 
ଵ	ଵ଴ 

 b) 
ଵସଶହ  x 

ଷହହଵ x 
ଷସସଽ = 

ଵସ	௑ଷହ	௑	ଷସ	ଶହ	௑	ହଵ	௑	ସଽ  =  
ଶ	௑	ଵ	௑	ଶ	ହ	௑	ଷ	௑	ଵ 	=   

ସ	ଵହ . 

15.  Divide :   

 a) 
૞ૢ
  by  

૛૜  b) 28 by  
ૠ૝                               c) 36 by 6 

૛૜  

  We have 

 a) 
ହଽ  ÷   

ଶଷ =  
ହଽ  x  

ଷଶ =  
ହ	୶	ଷଽ	୶	ଶ = 

ହ	୶	ଵଷ	୶	ଶ = 
ହ଺ 

 b) 28 ÷   
଻ସ  = 

ଶଵ଼    ÷  
଻ସ   = 

ଶଵ଼  x 
ସ଻     = 

ଶ଼		୶	ସଵ	୶	଻    =  
ସ		୶	ସଵ	୶	ଵ     = 

ଵ଺ଵ	   = 16 

            c) 36 ÷  6 
ଶଷ  = 36 ÷   

ଶ଴ଷ   = 
ଷ଺ଵ   ÷   

ଶ଴ଷ  =
ଷ଺ଵ  x 

ଷଶ଴ = 
ଶ଻ହ  = 5 

ଶହ. 
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16.  Simplif y : 

 a) 
૝ૢ
  ÷   

૛૜            b) 3 
૜ૠ  ÷   

ૡ૛૚ c) 15 
૜ૠ  ÷  1 

૛૜૝ૢ 

 We have  

 a)  	ସଽ  ÷   
ଶଷ =  

ସଽ  x  
ଷଶ = 

ଶ	୶	ଵଷ	୶	ଵ = 
ଶଷ 

 b) 3 
ଷ଻  ÷   ଶ଼ଵ = 

ଶସ଻   ܺ  
ଶଵ଼

 = 
ଶସ	୶	ଶଵ	଻	୶	଼    = 

ଷ	௫	ଷଵ	௫	ଵ  = 9 

          c) 15 
ଷ଻  ÷  1 

ଶଷସଽ = 
ଵ଴଼଻  ÷  

଻ଶସଽ = 
ଵ଴଼଻  x 

ସଽ଻ଶ 

              = 
ଵ଴଼	௑		ସଽ଻	௑	଻ଶ 	= 

ଷ	௫	଻ଵ	௫	ଶ = 
ଶଵଶ  = 10

ଵଶ 

 

     

                                                                               

1.  How much less is 28km t han 42. 6 km? 

Conver t ing t he given number ’s int o  like decimals, we get  28.00 and 42.60. 

Now, r equir ed dif f er ence = (42.60 – 28.00) = 14.60. ∴  I t  is 14.60 less t han 42.60. 

2.  I n a class of  st udent s 
૚૞ of  t he t ot al number of  st udent s like t o eat  rice only ,  

૛૞ of  the 

t ot al number of  st udent s like t o eat  chapat t i only and t he remaining st udent s like t o eat  

bot h.   What  f ract ion of  the t otal number of  st udent s like t o eat  both? 

Tot al number  of  st udent s  = 40 

Number  of  st udent s like t o eat  r ice = 
ଵହ x 40 = 8. 

Number  of  st udent s like t o eat  chapat i = 
ଶହ x 40 = 16. 

St udent s like t o eat  bot h = 40 – 8 – 16 

    = 40 – 24 = 16 

Fr act ion of  t ot al st udent s like t o eat  bot h = 
ଵ଺ସ଴	 = ଶହ. 

3.  what  should be added t o 7
૝૚૞  t o get  8 

૛૞ ? 

Requir ed number  t o be added = ቀ8
ଶହ − 	7	 ସଵହቁ = ቀସଶହ − ଵ଴ଽଵହ ቁ 

                                            = 
ଵଶ଺ିଵ଴ଽଵହ  = 

ଵ଻ଵହ = 1
ଶଵହ. 

 

 

Short  Answer Type Quest ions I I I  
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4.  Shyama bought   5kg 300g apples and 3 kg 250g mangoes.  Sarala bought  4 kg 800g 

oranges and 4 kg 150g bananas.   Who bought  more f ruit s? 

Weight  of  apples bought  by Shyama  = 5kg 300 g   = 5.300 g  

Weight  of  mangoes bought  by Shyama  = 3kg 250 g   = 3.250 g  

Tot al Weight  of  f r uit s bought  by Shyama  = 5.300 + 3.250 kg = 8.550 kg 

Weight  of  or anges bought  by Sar ala  = 4kg 800 g = 4.800 kg. 

Weight  of  bananas bought  by Sar ala  = 4kg 150g = 4.150 kg. 

Tot al Weight  of  f r uit s bought  by Sar ala  = 4.800 + 4.150 = 8.950 kg ∴ Sar ala bought  mor e f r uit s. 

 

5.  A t wo- wheeler covers a distance of  55. 3 km in one lit re of  pet rol.   How much distance 

will it   cover in 10 lit res of  pet rol? 

 Dist ance cover ed in 1 lit r e pet r ol = 55.3 km 

 So, dist ance cover ed in 10 lit r es of  pet r ol = 55.3 x 10 = 553 km 

 So, it  will cover  553 kms in 10 lit r e of  pet r ol. 

 

6.  The product  of  t wo decimals is 42. 987 .   I f  one of  t hem is 12. 46,  f ind t he other. 

 Pr oduct  of  given decimals = 42.987 

 One decimal = 12.46 

 ∴ The ot her  decimal 
ସଶ.ଽ଼଻ଵଶ.ସ଺  = ቀସଶ.ଽ଼଻	௑	ଵ଴଴ଵଶ.ସ଺	௑	ଵ଴଴ ቁ 

                 = 
ସଶଽ଼.଻ଵଶସ଺  = 3.45 

Hence, t he ot her  decimal = 3.45. 

 

7.  A bucket  contains 20 
૚૝ lit res of  wat er.   A small j ug has a capacit y of  

૜૝ lit re.   How 

many t imes has the j ug t o be f illed with water f rom the bucket  t o get  it  empt ied? 

Quant it y of  wat er  in a bucket  = 20 
ଵସ lit r es 

Quant it y of  a small j ug = 
ଷସ lit r es ∴ Number  of  t imes j ug t o be f illed t o empt y t he bucket  

= ቀ20
ଵସ	 ÷ 	 ଷସቁ  

= ቀ଼ଵସ	 ÷ 	 ଷସቁ  = ቀ଼ଵସ	 ܺ	 ସଷቁ = 
଼ଵଷ  = 27. 
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8.  Cost  of  a  burger is Rs. 20
૜૝ and of   macpuf f  is Rs15 

૚૛.   Find t he cost  of  4 burgers and 

14 macpuf f s. 

 Cost  of  a bur ger  Rs.20
ଷସ = Rs. 

଼ଷସ  

 Cost  of  a bur ger  = Rs. 
଼ଷସ  x 4 = Rs.83. 

 Cost  of  macpuf f s =  Rs. 15
ଵଶ = Rs.

ଷଵଶ   

 Cost  of   14 macpuf f s =  Rs.	ଷଵଶ   x 14 = Rs. 31 x 7 = Rs.217. 

 Tot al cost  of  a bur ger s and 14 macpuf f s = Rs. 83 + 217 = Rs.300. 

9.   Simplif y :  

૚૝ା	૚૞૚ି	૜ૡ	ࢄ	૜૞			 
 

భరା	భఱଵି	యఴ	௑	యఱ = 
భరା	భఱଵି	 వరబ	 = 

భరା	భఱరబషవరబ 	 
 = 

ఱశరమబయభరబ	  = 
వమబయభరబ	  = 

ଽଶ଴	 x 
ସ଴ଷଵ  = 

ଵ଼ଷଵ. 

  

 

 

1.  Simplif y t he f ollowing sums  

a) 1 
૟ૠ + 11 

૛૞ + 
૛૚૞   b) 2 

૛૜ + 12 
૛૝ + 5 

૚૛ 

 a) Given 1 
଺଻ + 11 

ଶହ + 
ଶଵହ  

          ∴ 
	(ଵ	ଡ଼	଻)ା	଺	଻   + 

	(ଵଵ	ଡ଼	ହ)ା	ଶ	ହ  + 
ଶଵହ  

          = 
଻ା଺଻  +  

ହହାଶହ  + 
ଶଵହ 	= 

ଵଷ଻  + 
ହ଻ହ 	+ 

ଶଵହ  

 =  
(ଵଷ	௑	ହ)ା	(ହ଻	௑	଻)ା	(ଶଵ	௑	଻)ଷହ   

  [∵  [35	ݏ݅	5	݀݊ܽ	7,5	݂݋	ܯܥܮ

 = 
଺ହାଷଽଽାଵସ଻ଷହ  = 

଺ଵଵଷହ  or  17 
ଵ଺ଷହ  

b) Given, 2 
ଶଷ + 12 

ଶସ + 5 
ଵଶ 

 ∴ 
	(ଶ	ଡ଼	ଷ)ା	ଶ	ଷ  + 

	(ଵଶ	ଡ଼	ସ)ା	ଶ	ସ  + 
	(ହ	ଡ଼	ଶ)ା	ଵ	ଶ  

 = 
଺ାଶଷ  +  

ସ଼ାଶସ  + 
ଵ଴ାଵଶ 	= ଷ଼ + 

ହ଴ସ 	+ 
ଵଵଶ  

 =  
(଼		௑	ସ)ା	(ହ଴	௑	ଷ)ା	(ଵଵ	௑	଺)ଵଶ   

  [∵  [12	ݏ݅	2	݀݊ܽ	3,4	݂݋	ܯܥܮ

 = 
ଷଶାଵହ଴ା଺଺ଵଶ  = 

ଶସ଼	ଵଶ =  
ଵଶସ଺ 	 = 	 ଺ଶଷ 		=20 

ଶଷ. 

 

 

 

Short  Answer Type Quest ions I V 
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2.  Find t he value of  
૝ૠ of  21 of  

૛૜ of  6.  

 Given 
ସ଻ of  21   =  

ସ଻ x  
ଶଵଵ = 

ସ	௑	ଶଵ଻	௑	ଵ 	= 12 

 Then, 12 of  
ଶଷ 

 =  
ଵଶଵ  x  

ଶଷ= 
ଵଶ	௑	ଶଵ	௑	ଷ 	= 8 

So, 8 of  6 

 =  ଵ଼ x  
଺ଵ= 

଼	௑	଺ଵ	௑	ଵ	= 
ସଵ଼  = 48. 

          Hence, 
ସ଻ of  21 of  6 = 

ସ଼
 . 

3.  Find t he value:  2 
૚૜ of  4  

ૠૢ	 of  
૚૛   

 Given 2 
ଵଷ of  4  

଻ଽ	of  
ଵଶ   

      ∵	2 
ଵଷ =  

(ଶ	௑	ଷ)ାଵଷ 		=  
଺ାଵଷ    = 

଻ଷ 

 4 
଻ଽ =  

(ସ	௑	ଽ)ା଻ଽ 		=  
ଷ଺ା଻ଽ    = 

ସଷଽ  

      ∴ 
	଻	ଷ  =	ସଷଽ    of   

ଵଶ  

Now, 
	଻	ଷ ସଷଽ	 ݂݋	  =

଻ଷ x  
ସଷଽ  x  

଻	௑	ସଷଷ	௑	ଽ = 
ଷ଴ଵଶ଻  

 and again, 
ଷ଴ଵଶ଻  ݂݋	

ଵଶ =
ଷ଴ଵଶ଻  x  

ଵଶ x  
ଷ଴ଵ	௑	ଵଶ଻௑	ଶ = 

ଷ଴ଵହସ  =5
ଷଵହସ 

 Hence, 
	଻	ଷ  of 	ସଷଽ 		of   

ଵଶ = 5
ଷଵହସ. 

4.  Express as rupees using decimals.  

 a) 49 paise  b) Rs.  54  64 paise  c) 249 paise 

 a) Given, 49 paise 

 We know t hat , Rs.1 = 100 paise 

 ∴ 1 paise = Rs.	 ଵଵ଴଴ 

So, 49 paise = 49 x 
ଵଵ଴଴ = 	 ସଽଵ଴଴ = Rs0.49 

b) 54 Rs 64 paise 

we know t hat  Rs 1=100 paise 

1 paise = Rs. 
ଵଵ଴଴  ∴ 64 paise = 64 x 

ଵଵ଴଴ = 	ݏܴ ଺ସଵ଴଴ = Rs0.64. ∴ Rs.54 + Rs0.64 = Rs54.64 

c) Given, 249 paise 

we know t hat  Rs 1=100 paise 

1 paise = Rs. 
ଵଵ଴଴  ∴ 249 paise = (200 + 49)paise = 200 paise + 49 paise 

So,49 paise = = Rs49 x 
ଵଵ଴଴ = 

ସଽଵ଴଴ Rs0.49 

200 paise = 
ଶ଴଴ଵ଴଴ = Rs.2 ∴ Rs.2 + Rs0.49 = Rs2.49. 
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5.  Simplif y and writ e t he result  in decimal f orm 

 ቀ૚ ÷
૛ૢቁ + ቀ૚ ÷ ૜ ૚૞ቁ + ቀ૚ ÷ ૛ ૛૜ቁ  

 Given ቀ1 ÷
ଶଽቁ + ቀ1 ÷ 3

ଵହቁ + ቀ1 ÷ 2
ଶଷቁ 

Now,  3
ଵହ = 

(ଷ	௑	ହ)ା	ଵହ  = 	 ଵହା	ଵହ  = 
ଵ଺ହ  

 2
ଶଷ = 

(ଶ	௑	ଷ)ା	ଶଷ  = 	 ଺	ା	ଶଷ  = ଷ଼ ∴ ቀ1 ÷
ଶଽቁ + ቀ1 ÷

ଵ଺ହ ቁ + ቀ1 ÷ ଷ଼ቁ 

[∵ r ecipr ocal of  
ଶଽ is 

ଽଶ, r ecipr ocal of  
ଵ଺ହ  is 

ହଵ଺,and r ecipr ocal of  ଷ଼ is 
ଷ଼
]  ቀ1 ×

ଽଶቁ + ቀ1 ×
ହଵ଺ቁ + ቀ1 ×

ଷ଼ቁ 

=ቀଵ	× 	ଽଵ	× 	ଶቁ + ቀ ଵ	× 	ହଵ	× 	ଵ଺ቁ +ቀଵ	× 	ଷଵ	× 	଼ቁ 

= ቀଽ	ଶቁ + ቀ ହ	ଵ଺ቁ + ቀଷ	଼ቁ 

[∵ LCM of 2,16  and 8 is 16 ] 

=
(9	ܺ	8) + 	 ( 	5ܺ1) + 	 ( 	3	ܺ	2)

16
 ଻ଶା	ହ	ା଺ଵ଺  = 

଻ଶାଵଵଵ଺  = 
଼ଷଵ଺ = 5.1875. 

 

6.  Evaluat e (0. 3) x (0. 3) – (0. 2) x (0. 2).  

 Given (0.3) x (0.3) – (0.2) x (0.2). 

 0.3 =  
ଷଵ଴, 0.2 =  

ଶଵ଴, ቀ ଷ	ଵ଴	 	x ଷ	ଵ଴		ቁ -  ቀ ଶ	ଵ଴	 	x ଶ	ଵ଴		ቁ 

 = 
ଽଵ଴଴ -  

ସଵ଴଴ = 
ଽିସଵ଴଴ 

 = 
ହଵ଴଴  = 0.05 

7.  Evaluat e 
૙.૟૙.૜ + 

૙.૚૟૙.૝  

  = 
଴.଺଴.ଷ + 

଴.ଵ଺଴.ସ  				∵ 0.6 = 
଺ଵ଴ , 0.3 = 

ଷଵ଴ , 0.16 =
ଵ଺ଵ଴଴	 0.4 = 

ସଵ଴ 

  
లభబయభబ  + 

భలభబబరభబ 	= ቀ ଺	ଵ଴	 	x ଵ଴	ଷ		ቁ + ቀ ଵ଺	ଵ଴଴	 	x ଵ଴	ସ		ቁ 

   [∵ division is r ever se of  mult iplicat ion ] 

 = 
଺଴ଷ଴ + 

ଵ଺଴ସ଴଴ = 
଺ଷ + 

ଵ଺ସ଴ =
ଶଵ + 

ସଵ଴ =
ଶ଴ାସଵ଴  

 [∵ LCM of  1  and 10 is 10 ] 

 
ଶସଵ଴ = 

ଵଶହ  =2.4 

8.  Find t he value of   
(૙.૛	ܠ	૙.૚૝)ା(૙.૞	ܠ	૙.ૢ ૚)

(૙.૚	ܠ	૙.૛)
.  

Given 
(଴.ଶ	୶	଴.ଵସ)ା(଴.ହ	୶	଴.ଽଵ)

(଴.ଵ	୶	଴.ଶ)
. ∵ 0.2 = 

ଶଵ଴ , 0.14 = 
ଵସଵ଴଴ , 0.5 =

ହଵ଴	  
 0.91 = 

ଽଵଵ଴଴ , 0.1 = 
ଵଵ଴ , 0.2 =

ଶଵ଴	  
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ቀ మభబ			௑	 భరభబబ		ቁା	ቀ ఱభబ			௑	 వభభబబ		ቁ	ቀ భభబ		௑	 మభబ		ቁ  = 

మ	೉	భరభబబబ ାఱ	೉	వభభబబబ 	భ	೉	మభబబబ  

= 	 28
1000

+
455

1000
	

2
1000

 

= 
మఴశరఱఱభబబబమభబబ  =  

రఴయభబబబమభబబ  = 
ସ଼ଷଵ଴଴଴ 	ܺ	 ଵ଴଴ଶ  

   [∵ division is r ever se of  mult iplicat ion ] ସ଼ଷଵ଴	௫	ଶ = 	 ଶସଵଵ଴  = 24.15. 

 

9.  Rama has 6 
૚૝	kg of  cot t on wool f or making pillows.   I f  one pillow takes 1

૚૝  kg,  

how many pillows can she make? 

i.e. 6 
ଵସ kg = 

(଺	௑	ସ)ା	ଵସ  = 	 ଶସ	ା	ଵଶ  = 
ଶହସ  

Wher e t he one pillow can be made f r om 1
ଵସ 

i.e. 1 
ଵସ kg = 

(ଵ	௑	ସ)ା	ଵସ  = 	 ସ	ା	ଵଶ  = 
ହସ ∴ Number  of  pillows =

்௢௧௔௟	௤௨௔௡௧௜௧௬	௢௙	௖௢௧௧௢௡	௔௩௔௜௟௔௕௟௘௖௢௧௧௢௡	௨௦௘ௗ	௜௡	௢௡௘	௣௜௟௟௢௪  మఱరఱర = 
ଶହସ  x  

ସହ =
ଶହହ  =5 

   [∵ division is r ever se of  mult iplicat ion ]. 

 

10.  I f   Radhika takes 2 
૚૜ m of  clot h t o make a shirt .   How many shirt s can 

Radhika make f rom a piece of  clot h 9 
૚૜ m long? 

 Given Radhika t akes 2 
ଵଷ m of  clot h t o make a shir t  

 i.e. 2 
ଵଷm = 

(ଶ	௑	ଷ)ା	ଵଷ  = 	 ଺	ା	ଵଷ  = 
଻ଷ 

I f   Radhika has 9 
ଵଷ m long clot h 

i.e. 9 
ଵଷm = 

(ଽ	௑	ଷ)ା	ଵଷ  = 	 ଶ଻	ା	ଵଷ  = 
ଶଷ଼ m 

Then number  of  shir t s t hat  can be made =
	௔௩௔௜௟௔௕௟௘	௖௟௢௧௛ோ௘௤௨௜௥௘ௗ	௖௟௢௧௛	௧௢	௠௔௞௘	௢௡௘	௦௛௜௥௧ ଶ଼/ ଷ଻/ ଷ  = 

ଶଷ଼  x  
ଷ଻ 

[∵ division is r ever se of  mult iplicat ion ] ଶ଻଼   = 4 

Hence, Radhika make 4 shir t s f r om available piece of  clot h. 
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11.  Ravi can walk 3
૚૜ km in one hour.   How long will it  t ake him t o walk t o his 

of f ice which is 10 km f rom him home. ? 

Ravi can walk 3
ଵଷ km in one hour  

i.e. 3
ଵଷ km /  hour  = 

(ଷ	௑	ଷ)ା	ଵଷ  = 	 ଽ	ା	ଵଷ  = 
ଵ଴ଷ  km/ h. ∵ Dist ance bet ween Ravi’s and his of f ice = 10 km ∴ Time = 

ୈ୧ୱ୲ୟ୬ୡୣ	ୠୣ୲୵ୣୣ୬	ୖୟ୴୧’ୱ	ୟ୬ୢ	୦୧ୱ	୭୤ϐ୧ୡୣ	ோ௔௩௜ᇲ௦௦௣௘௘ௗ	௜௡	ଵ	௛  ଵ଴	௞௠భబయ 	௞௠/ ௛ x  
ଵ଴ଵ  x  

ଷଵ 

[∵ division is r ever se of  mult iplicat ion ] ଷ଴ଵ଴ = 3h. 

 

12.  Rohan is dividing 1 
૜૝	kg of  sweet s equally among his seven f riends.   How much 

does each f riend receive? 

Tot al quant it y of  sweet s = 1 
ଷସ	kg ∵ 1

ଷସ = = 
(ଵ	௑	ସ)ା	ଷଷ  = 	 ସ	ା	ଷସ  = 

଻ସ kg ଻ସ ÷  7 = 
଻ସ x  

ଵ଻ = 
ଵସ kg 

Hence, each f r iend r eceive 
ଵସ kg sweet s. 

 

13.  Amit  has one piece of  chocolat e cake.   Sumit  has one piece of  st rawberry 

cake.   Amit  slices his cake int o 8 equal pieces.   Sumit  slices his cake int o 16 

equal pieces.   Amit  want s t o exchange a port ion of  Sumit ’s cake.   I f  he gives 4 

pieces of  his cake t o Sumit ,  how many pieces of  cake should Sumit  give t o Amit .  

So, each piece = 
ଵ଼
 of  chocolat e cake 

Sumit  divide cake int o 16 equal pieces 

So each piece = 
ଵଵ଺ of  st r awber r y cake 

= 8 x 
ଵଵ଺ = 4 x 

ଵ଼
 

Sumit  should give 8 pieces of  cake t o Amit . 

14. Mukesh cut  a cake int o 4 equal  pieces.   I f  he want ed t o divide each of  t hem 

int o 3 equal pieces,  what  f ract ion of  the whole cake would each small piece be? 

Number  of  pieces =4 

Mukesh  want s t o divide each piece of  cake in 3 equal pieces. 

So, 	ଵଷ of  
ଵସ x  

ଵଷ x  
ଵଵଶ. 
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15.  Find t he decimal expression f or 6 rupees 8 pase ( in rupees).  

=Rs.6 ÷ 8x
ଵଵ଴଴r upees     [∵ 1 r upees = 100 paise] 

=Rs.6+Rs.0.08 = Rs.6.08. 

 

16.  Ramu f inishes 
૚૜ part  of  a work in 1 h.  How much part  of  t he work will be   

f inished in   2 
૚૞ h? 

The par t  of  t he work f inished by Ramu in 1h= 
ଵଷ 

So,t he par t  of  t he wor k f inished by Ramu in = 2 
ଵହ 

= 2 
ଵହ	x  

ଵଷ = 
(ଶ௫ହ)ାଵହ  x  

ଵଷ 

= 
ଵଵହ  x  

ଵଷ = 
ଵଵଷହ 

Hene Ramu will f inish 
ଵଵହ par t  of  t he wor k in 2 

ଵହ ℎ. 

 

17.  For the celebrat ing children’s day,   4 st udent s of  class VI I  bought  

sweets  f or Rs. 740. 25 and cold drink f or Rs. 70 .   I f  35 st udents 

cont ribut ed equally,  what  value depicted here? 

Paid money f or  sweet s = Rs.740.25 

Paid money f or  cold dr ink = Rs.70 

Tot al money paid by 35 st udent s = Rs.740.25 + Rs.70 = 810.25 ∴ Cont r ibut ion by each st udent s = 
ோ௦.଼ ଵ଴.ଶହଵଷହ  = 

଼ଵ଴ଶହଷହ଴଴  

So, each st udent  cont r ibut ed = Rs.23.15 

The value depit ed her e is unit y of  t he st udent s. 

18.  I n her Science class ,  Jyot i learnt  that  t he at omic weight  of  Helium is 

4. 0030,  of  Hydrogen is 1. 0080 and of  Oxygen is 16. 0000.   Find t he dif f erence 

bet ween t he at imic weight s of .  

i) Oxygen and Hydr ogen 

ii) Oxygen and Helium 

iii) Helium and Hydr ogen 

Given At omic weight  of  Helium = 4.0030 

 Hydr ogen = 1.0080 and Oxygen = 16.0000 

i) Dif f er ence bet ween t he at omic weight s of  Oxygen and hydr ogen 

 
			ଵ଺.଴଴଴଴ି଴ଵ.଴଴଼଴		ଵସ.ଽଽଶ଴  

ii) Dif f er ence bet ween t he at omic weight s of  Oxygen and Helium 

 
			ଵ଺.଴଴଴଴ି଴ସ.଴଴ଷ଴		ଵଵ.ଽଽ଻଴  
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iii) Dif f er ence bet ween t he at omic weight s of  Hydr ogen and Helium 

 
			ସ.଴଴ଷ଴ିଵ.଴଴଼଴		ଶ.ଽଽହ଴ . 

 

19.  I f  
૛૜  of  a number is 10 ,  t hen what  is 1. 75 t imes of  t hat  number? 

Let  t he number  be x. 

Accor ding t o t he quest ion 
ଶ	ଷ of  x=10 = 

ଶ	ଷ x x ݔ   = 10 

On mult iplying by 
ଶ	ଷ bot hsides,we get   

= 
ଶ	ଷ x x ݔ   

ଷ	ଶ	= 10 x 
ଷ	ଶ = 5 = ݔ x 3= x = 15 

1.75 t imes of  15 = 1.75 of  15= 1.75 x 15 

= 
ଵ଻ହଵ଴଴ x  15 = 

ଶ଺ଶହ	ଵ଴଴ 	= 26.25. 

 

20.  
૝૞ of  5 kg apples were used on Monday.   The next  day,  

૚૜ of  what  

was lef t  was used .  Find the weight  ( in kg) of  apples lef t  now.  

Apples used on Monday = 
ସହ of  5 kg 

= 
ସହ of  5 = 

ସ	௫	ହହ 	of  4 kg 

Apples lef t  = (5-4)kg = 1kg 

Next  day apples used = 
ଵଷ	of  1 kg = 

ଵଷ	kg 

Lef t  apples = ቀ1 − ଵଷቁ kg = 
ଷ	௫	ଵିଵ	௫	ଵଷ  = 

ଷ	ିଵଷ  = 
ଶଷ kg. 

21.  A picture hall has seats f or 820 persons.   At  a recent  f ilm show,  

used Mr.  X guessed it  was 
૜૝	f ull,  another used Mr.  Y guessed it  was ૛૜ f ull.   The t icket  of f ice report ed 648 sales. 

Which used (f irst  or second) made the bet t er guess? What  value 

depict  here? 

Given pict ure hall seat s = 820 

One user  guesses 
ଷସ f ull ∴ 

ଷସ	of  820 = 
ଷସ	x 820 =

ଷ௫଼ଶ଴ସ  = 
ଶସ଺ସ = 615 

Anot her  user  guesses 
ଶଷf ull ∴ 

ଶଷ	of  820 = 
ଶଷ	x 820 =

ଶ௫଼ଶ଴ଷ  = 
ଵ଺ସ଴ସ = 546.66 

648 t icket s ar e sold t hat  is near ly t o 615 

So, Mr . X guess was bet t er . 

I n many sit uat ions we solve our  pr oblems by appr oximat ion or  guessing. 
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22.  A f lower garden is 22. 50 m long.  Sheela wants to make a border 

along one side  using bricks that  are 0. 25 m long.   How many bricks 

will be needed? 

Lengt h of  t he f lower  garden = 22.50m 

Lengt h of  br ick = 0.25m 

Number  of  br icks used in one side = 
௅௘௡௚௧௛	௢௙	௙௟௢௪௘௥	௚௔௥ௗ௘௡௅௘௡௚௧௛	௢௙	௔	௕௥௜௖௞ 		= 

ଶଶ.ହ଴௠଴.ଶହ௠ = 
ଶଶହ଴ଶହ = 90 

Hence 90 br icks will be needed. 

23.  The product  of  two decimal numbers is 2. 2144.  I f  one of  them is 

0. 64 then f ind the other decimal number . 

Given, t he product  of  t wo decimal numbers is 2.2144 

One of  t he decimal number  =0.64 

Let  t he ot her  decimal number  be ݔ 

So according t o t he quest ion 

0.64 x = 2.2144 

 =  ݔ 2.2144
ଶଶଵସସଵ଴଴଴଴ = 

ଵ଴଴଺ସ  

 = ݔ 0.64
ଶଶଵସସଵ଴଴  x 

ଵ଺ସ = 
ଷସ଺ଵ଴଴ = 3.46 3.46 =  ݔ 

Hence t he ot her  number  is 3.46 

Check = 3.46 x 0.64 = 346 x 64 = 22144 

Place decimal point  of t en 4 digit s st ar t ing f rom t he ext reme r ight  of  

22144 and 64  

so 3.46 x 0.64 = 2.2144 

24.  Measurement  made in Science lab must  be as accurat e as possible.   Ravi 

measured t he lengt h of  an iron rod and said it  was 19. 34cm long.  Kamal said 

19. 25 cm and Tabish said 19. 27 cm.  The correct  lengt h was 19. 33 cm.   How 

much of  error was made by each of  t he boys? 

The act ual lengt h of  an ir on r od = 19.33 cm 

Measur ed lengt h = 19.34 m 

Er r or  = measur ed value – Act ual Value 

=(19.34 – 19.33) cm + 01 cm 

Kamal measur ed = 19.25 cm 

Er r or  = (19.25 – 19.33) cm – 0.08 cm 
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Tabish measur ed = 19.27 cm 

Er r or  = (19.27 – 19.33) cm – 0.06 cm 

25. Family phot ogr aph has lengt h 14 
ଶହ	cm and br eadt h 10 

ଶହ	cm.  I t  has bor der   of  

unif or m widt h 2 
ଷହ	cm. Find t he ar ea of  f r amed phot ogr aph. 

= 
ଵସ௫ହାଶହ  = 

଻ଶହ  cm 

Breadt h of  f amily phot ograph = 10
ଶହ cm 

= 
ଵ଴௫ହାଶହ  = 

ହଶହ  cm 

New lengt h including border  (f r om bot h sides) 

  = 
଻ଶହ  + ቀ2

ଷହ  = 2ቁݔ
଻ଶହ  + ቀଵଷହ  2ቁݔ

 = 
଻ଶହ  + 

ଶ଺ହ  = 
଻ଶାଶ଺ହ  = 

ଽହ଼  cm 

New widt h including border  (f r om bot h sides) 

 = 
ହଶହ  + ቀ2

ଷହ  2ቁݔ

 = 
ହଶହ  + 

ଶ଺ହ  = 
ହଶାଶ଺ହ  = 

଻ହ଼  cm 

 ∴ Ar ea of  f r amed phot ogr aph 

 = 
ଽହ଼  x  = 

଻ହ଼  = = 
଻଺ସସଶହ  = 305 = 

ଵଽଶହ cm2 

 Hence area of  f ormed phot ograph is 305 
ଵଽଶହ cm2 

 

 

 

 

1.  Rit ika studies f or 11 
૚૜ hours daily.  She devotes 5

૜૞ hours of  her t ime f or Hindi and 

Sanskrit .  How much t ime does she devot e f or ot her subj ect s? 

Tot al hour s devot ed by Rit ika f or  ot her  subj ect s 

 = 
ଷସଷ  - 

ଶହ଼  

 = 
ଵ଻଴ି଼ସଵହ = 	 ଼଺ଵହ = 5ଵଵଵହ hour s. 

2. Evaluate the f ollowing 

a. t he place value of  5 in 103.2523 – place value of  2 in 115.552. 

b. 
ଵ଺ of  2 

ଶଷ ÷
ସଷ x 1 

ଵଶ 

a.. Place value of  5 in 103.2523 – Place value of  2 in 115.552. 

= 0.0500 – 0.002 

=0.050 – 0.002 

= 
ହ଴ଵ଴଴଴ - 

ଶଵ଴଴଴ 

Long Answer Type Quest ions  
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= 
ହ଴ିଶଵ଴଴଴  = = 

ସ଼ଵ଴଴଴ 

= 0.048 

 b.. 
ଵ଺ of  2 

ଶଷ ÷
ସଷ x 1 

ଵଶ 

     = 
ଵ଺ of   ଷ଼ ÷

ସଷ x  
ଷଶ 

         = 
ଵ଺ x  ଷ଼ ÷

ସଷ x  
ଷଶ 

     = ଵ଼଼ x  
ସଷ x  

ଷଶ 

     = 
ଵଶ. 

 

3.  I n a school 
૞૟ of  the st udent s are boys.   I f  t here are 240 girls is school,  The f ind 

t he number of  the boys in School. 

Solut ion : Since t he no. of  boys   = 
ହ଺ 

Or . Number  of  gir ls = 1- 
ହ଺ 

= 
଺ିହ	଺    = 

ଵ଺ 

 Hence, t he no of  gir ls  =
ଵ଺	 t h of   t he t ot al number  of  st udent s  

=
ଵ଺ t h  of  t he t ot al number  of  st udent s = 240 

Tot al number  of  st udent s   
ଶସ଴ଵ/ ଺ 

Tot al number  of  st udent s  = 1440 

= ∴ No. Of  boys  = 1440 – 240  

       = 1200 

4.  I n a class of  40 st udent s,  
૚૞  of  t he t otal number of  st udent s like t o st udy English, ,  

૛૞ 

of  t he t ot al number like t o st udy maths and remaining st udent s likes t o st udy science.  

a) How many st udent s like t o st udy English? 

b) How many st udent s like t o st udy maths? 

c) What  f ract ion of  the t otal number  of  st udent s like t o st udy science.  

Solut ion :  

a) No. Of  st udent s like t o st udy English 

= 
ଵହ	   x 40 

= 1 x 8 

=8 

b) No. of  st udent s who like t o st udy science  

=
ଶହ  x 40 



 

 

 

                                                                         46                                                      Created by Pinkz 

 

 

= 2 x 8 

=16 

d) No. Of  st udent s who like t o st udy science  

=40 – ( 8 + 16 ) 

=40 -24 

= 16 

I n par t  (ii) we know  ଶହ x 40 = 16 

So 
ଶହ  of  t he t ot al no. of  st udent s like t o st udy science. 

5.  A car covers a dist ance of  8. 6 km in 1 lit re pet rol.  How f ar it  will go in 36. 5 lit res of  

pet rol ∴ car cover in 1 lit re = 8. 6 km 

Car  cover s in 36.5 lit r es = 8.6 x 36.5 

=313.90 

=313.9 km 

6.  Simplif y : 

4 
ଶଷ  -  3 

ଵସ + 2 
ଵ଺ 

Solut ion : 

4 
ଶଷ  -  3 

ଵସ + 2 
ଵ଺  =   

૚૝૜	   -   ૚૜૝	     + 
૚૜૟૜	 

= 
૚૝	࢞	૝૜		࢞	૝   -   

૚૜	࢞	૜૝		࢞	૜     + 
૚૜		࢞	૛૟		࢞	૛  

=∴  LCM  of  3,4 and 6 is 12, so we conver t  each f r act ion int o an equivalent  f r act ion wit h 

denominat or   12. 

i.e.  
ହ଺ଵଶ   -  

ଷଽଵଶ  +  
ଶ଺ଵଶ   =    

ହ଺ିଷଽ	ାଶ଺ଵଶ  

= 
଼ଶିଷଽଵଶ     

= 
ସଷଵଶ  = 3

଻ଵଶ. 

7.  The cost  of  5 
૛૞ kg of  sugar is Rs. 101

૚૝ ,  f ind it s cost  per kg.  

 We have 

 Cost  of  5 
ଶହ kg of  sugar  is Rs.101 

ଵସ 

 Or , cost  of  
ଶ଻ହ kg of  sugar  is Rs. 

ସ଴ହସ  

 Or , cost  of  1 kg of  sugar  
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 = Rs. ቀସ଴ହସ ÷ 	 ଶ଻ହ ቁ = Rs. ቀସ଴ହସ 	ݔ ହଶ଻ቁ 

= Rs. ቀସ଴ହ	௫	ହସ	௫	ଶ଻ ቁ= Rs.	଻ହସ  = Rs.18 
ଷସ 

8.  The product  of  two number is 20
૞ૠ.  I f  one of  the numbers is 6  

૛૜ 

f ind the other.  

We have 

Product  of  t wo number s = 20 
ହ଻. I f  one of  t he number s is 6  

ଶଷ f ind t he 

ot her . 

Ot her  

Pr oduct  of  t wo number s = 20 
ହ଻ = 

ଵସହ଻  

One of  t he number  = 6 
ଶଷ = 

ଶ଴ଷ  

The ot her  number  = (product  of  t he numbers ÷ 		One of  t he numbers) 

 = 
ଵସହ଻ 	÷  

ଶ଴ଷ  

 = 
ଵସହ଻  ݔ	

ଷଶ଴ = = 
ଵସହ	௫	ଷ଻௫ଶ଴ 	= = 

ଶଽ	௫	ଷ଻	௫	ସ =  
଼଻ଶ଼ = 3 

ଷଶ଼ 

Hence t he ot her  number  is 3 
ଷଶ଼ 

9.  I f  the cost  of  a notebook is Rs. 8
૜૝,  how many notebooks can be 

purchased f or Rs.  
૚૜૚૝ ? 

We have, 

Cost  of  a not ebook is Rs.8
ଷସ = .ݏܴ

ଷହସ  

Tot al amount  = Rs.	131
ଵସ= Rs. 

ଷହସ  

Number  of  Not ebooks = 
்௢௧௔௟	஺௠௢௨௡௧஼௢௦௧	௢௙	௢௡௘	௡௢௧௘௕௢௢௞ 

=
ହଶହସ ÷

ଷହସ  =
ହଶହସ  x 

ସସଷହ = 
ହଶହ	௫	ସସ	௫	ଷହ  = 15. 
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10.  A bucket  contains 24
૜૝ lit res of  water .   How many 

૜૝ lit res j ugs can 

be f illed  f rom the bucker empt ied ? 

Volume of  wat er  in t he bucket  24 
ଷସ ݏ݁ݎݐ݈݅	 =  

ଽଽସ  lit r es 

Capacit y of  j ug = 
ଷସ lit r e ∴ Number  of  j ugs  t hat  can be f illed t o get  t he bucket  empt ied 

= 
ଽଽସ ÷

ଷସ = 
ଽଽସ  x 

ସଷ = 
ଽଽ௑	ସସ௑	ଷ  = 33 

Hence, 33 j ugs of  
ଷସ	 lit r e can be f illed t o get  t he bucket  empt ied. 

 

 

 

 

 

 

  

 

 

 


